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JL624 23400 | 43%
JL626 20400 | 50%
JL628 900 | 52%
JL630 200 | 44%
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JL690 20900 | 49%
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JL3117 ,700 | 70% [+ H:14.200
ALOR (FrF ) 58 _JL3100 100 64% [+ H:16.900
JL3110 200 | 66%
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JL2904 7.200 | 46% |%:17.900, £:18,700.
JL2906 20800 | 35% |%:21,200, £:18,400.
JL2910 15200 | 52% [£:16,200. £:12,100,

JAL



MEEEIS121 EER(5A18~31BERED)

EEBEAB 2018/03/28 ~
5/18-31
= &2 BEITE
S E
EIEES "
e E:D R R (PE) % [_J2st ) 59% [2:13.900, £ H:11.700
JL233 800 | 53% |+ H:11.600
JL237 200 | 61% |&:
JL239 300 | 52%
JL241 000 | 53%
RIS JL232 .200 61%
JL234 100 | 52%
JL236 200 | 61%
JL240 300 | 52%
JL242 000 | 53%
R (PE)=HE RR(PE) R |27 20000 | 38% 20,100, 20,900,
JL279 22400 | 31% 22,600, £:23.600. B
JL283 300 | 43% 8.800, H:19.600
JL285 000 | 54% :16.000
JL287 500 | 43%
HER JL276 .300 56%
JL278 22000 | 32%
JL280 18.300 | 43%
JL284 22900 | 29%
JL286 21.700
FRCRE)=K5 RRCHE)$ [_JL661 22.700
JL663 22.700
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EE JL662 19.900 50%
JL664 21.800 | 45%
JL668 22100 | 45%
JL670 600 | 46%
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JL609 20400 | 53%
JL611 20400 | 53%
JL613 20600 | 53%
JL615 20.600 | 53% | K:20.700. 22,
RIESR JL606 20200 | 54% K:20.500, %:21.000. 800, H:20300
JL608 400 | 51% 900, £:21¢ oo E 20.300
JL610 800 | 55%
JL612 100 | 47%
JL614 100 | 47%
JL616 500 | 51%
AR CRIE)=REX RECHE) S [ JL623 22.200 46%
JL625 22600 | 45%
JL627 22600 | 45%
JL629 900 | 47% |A:
JL631 900 | 47% [H:21.300
JL633 600 | 47%
JL637 400 | 48%
JL639 700 | 47%
AR JL622 22,600 45%
JL624 23400 | 43%
JL626 20400 | 50%
JL628 900 | 52%
JL630 200 | 44%
JL632 200 | 44%
JL634 200 | 44%
JL638 400 | 63%
AR CRIE) =58 RECHE) S | JL6s7 20.900 49%
JL689 21,300 | 48%
JL691 21,300 | 48%
JL603 21,000 | 49%
JL695 20600 | 50%
JL697 20600 | 50%
EE JL68S 20.800 49%
JL690 20900 | 49%
JL692 20300 | 51%
JL694 20800 | 49%
JL696 22300 | 46%
JL698 6.300 | 60%
KR () =R KR (fFH % | JL2371 7.800 38%
JL2373 7.800 | 38% 17,
JL2375 5800 | 45% £:17.800, B:17.700
JL2377 9,000 69%
IR JL2372 9,000 69%
JL2374 7300 | 40% |%:17.800
JL2376 5800 | 45% |%:16,700, H:17.300
JL2378 7300 | 40% |%H:17,800, £:15,800
55 (R ER) =ALIE (B T 3| & & 2 (&) 36| JL3103 500 42% | K:27.200, #:27,700, £:28,900. H:24.400
JL3105 200 | 66%
JL3115 700 | 65% | H:16500
JL3117 ,700 | 70% [+ H:14.200
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[COLs1s [ 28EAI| 14.100 | 62 [KF 14400, 219,000, 18400 4SBT 11800 | 60% |A:14300. 16500
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[L52 | 28E 81| 14.100 | 624 |.15000. £:14000. (14700 T5ERT] 11800 | 69 [ 18200, £ 12400
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599 | 28E 77| 16500 | o4 [E14800 4sEFT] 11500 | 60 |F
JL500 | 28EH] 59% | JCK 15,000, 5 15,600, 15900, FLT3500 45EET| 12200 | 67 H11500
[“ots02 [ 28E51 57% | JCK 15,500, 216,500, £:17.000, B 13,500 4SBT 13300 | 65% [ 213500, 2.100
[CLs04 | 288 7% | JK 15,500, 16,500, £:17.000, B.13,500 4SEET| 13300 | 65 [$:18,800. 14,400, B:12.100
[C9L504 [ 28E AT | 15600 | 56% | AK-15500, 15700, F14.400 asEg] 12200 | o [EFis00 B0
[uL506 |28 gl [ 14400 | 45EHT[ 11.000 | 714 [:12.100. 11500, B:13.700
[“otsos | 28mm1 | 13500 | o ASERT] 10400 | 72 [@11500, 10900, B4200 |
[ Jisio T28E [ 13000 | 45EH) | 10400 | 72% |#:11,500, £:10,900, H:14.200
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[ Jisis T 28E | 15700 | 45EH) | 15600 | 684 |#:17.200, +:14,100, H21.100
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[ULoiz | 28E 81| 19500 | o7 |.19.400. £:19.800. :22.200 TSR] 18800 | 59n | 18400 FL19.400
[JLo14 | 2B | 19500 | 57% [ 15400, % To.000- B 22200 | 4sEy | 18800 | 5%\ | 16400- B 19400
[ULoto | 28E 81| 21500 | 53% |.19.600. £:10.500. §:22.200 TSR] 20000 | 51 | A 18600 18800 70500
[oots | 28127500 |53 [ 19,600 Z 10500 22700 US| 20900 | ¢ | K.16.600 16,800 120,600
["Lo20 | 28E 87| 20000 | 564 |.19.400. £:16.900. :22.200 TSR] 19400 | 5o | 18400 £ 18200 H 20400
922 | 28ERI| 9900 | 78% [H:15.700 ASEfl [ 9800 79% [ H:14.700
(TR | A (BE) % | J2901 | 268 | 16000 | 654 [ 18300, H13200 4SEET| 13900 | 705 [$F 15900, HT500
[ L2503 | 28 B | 10200 | 78% |+ H 11800 458 [ 9.700 T9% [ EH:11.300
2505 | 28 B Al 784 [ FH11.800 4581 | 0.700 79% [+ H:11.300
{2502 | 26E81] 15000 | o6 asEg 14000 | Jov [EEasoe
[JL2504 | 28E 81| 15300 | 67% T ] B S
2506 | 287 | 15400 | 67 |&75800 13500, BiAB0 | #smgy] 13400 | s |Eiz00 Eriseo Ezeoe |
FROm RS | ERRm B | _Jial | 28mw | 14300 | sen 35E | 13800 | 5ou
[oLi4s | 26m81] 1400 | 568 A5EE | 14300 |
[CLias | 28B4 | 13600 | 5e% T5ER 13300 | 6rn
[JCia7 [ 28mA1 | 14200 [ 565 [F16000 S | 13.700 |59 [H15500
[TuLrao | 28B4 | 14200 | 56% [$E.16000 5ART | 13700 | 5%, %8 15500
151 | 28ER 59% | #H:15.300 ASEH | 13300 61
wHE [ JL40 | 26EE 504 45807 | 13,300 614
["oCia2 [ 28mA | 14200 | 565 |SEET5000 S| 18.700 |59 [SEATA500
[TuLiss [ 28E 87| 14200 | 563 |# LB 15000 5] 13700 | 5% [#EH 12500
[JCi46 | 28RAT ] 1300 | 508 [&H:14300 5 E] | 13300 | _61%
[CuLise | 28Emi| 14300 | oon [ E14000 S5AR] 13800 | 5on [BETEE00
150 | 2B E R 59% ASE | 13,300 61
T uLiss | semwr] 16200 | 1% SSE| 15400 | 50
[oLi57 [ 28mm | 16200 [ 1% S| 15400 |50
159 | 28 B # 518 45871 400 534
[Lioa | 26E 81| 16200 | b1 | S| 15400 |59 |
[TLise | 28E 87| 16200 | 51 [16500 S5aR] 15400 | 5n #6400
156 | 28 FHI | 16200 | 51% [%:16.900 45ER] 400 | 534 [ #:16400
R () -HE B (WE) %[ JL61 | 28EHI | 15500 | 44n [#14700, £H10200  asHET 000 | 49% | 12500 T H9400
[ULT63 |28 E% [ 16,600 | 40% |17,000, T H:10200 A5E ] 600 47% [ £ H:9.400
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674 | 28 B 63% [ ®H:16,800 45E ] [ 12,100
T T 505 | 28E 77 16300 SsEy] 12400
L607 | 28E181 | 16500 | 17500, 518500, F16200 B15800 | a5BgI] 18900 | 684 | 14500, 15,400, & 15900, £16100, A13500
609 | 26Bf | 15400 | 15,500, 15,700, F H:16.500, £:16.000. 45EF] | 15,700 | 69% | X:13.200, 13,400, A:13.500, 14,600, £:14400
611 | 26B87| 15400 | 75,500, A 15,700, & 616,500, £ 16,000 45EET| 13700 | 69% | X 13.200. k13,400, A 13500, 145600, 14400
613 [ 28Bf1 | 15500 | 15,800, 15,700, %:17,000, +14.800, 516,800 4SBT | 12600 | 71% | Je12500, 7K 12200, :13.700, £:12.300, B:13.200
615 [ 28EgI | 15600 | 15,800, Z:15.700, §:17.200, +:14.800, H:16,800 45EE | 12600 | 71% | Je12500, 712,200, 513,700, £:12:300, B:13.200
606 | 28B4 | 15300 | 15,200 ACK 15,500, & 16,300, 16800 4SEfT| 14300 | 67 |$:14800. +15100. B13.700
608 | 268 | 15500 | 15,700, #:16,300, £:16,800, B:15.300 45E8) [ 13,500 69% 13,400, 14,900
610 | 28 f1 516,300, J:15.300, %:16,000, +:15.900, H:16,800 45807 | 13.200 T0% 13,500, % £.14,100, 514,900
612 | 26E8 | 17.000 | 61% [kK 16500, 15900, H:17.800 45E8) [ 16000 634 £:14,600, H:16,200
614 | 28E R 61% [ 7KA16,500, £.15,900, H:17.800 45807 | 16,000 634 £.:14,600, H:16.200
616 | 28E8] 64| 18,000, £ 14900, B17,500 45EE | 13000 | 70v [ 13700
FEAE TR | FE ()% | JLs2s | 288 | 14600 | 68 [ 15100 £ 16600 S5 12000 | 71 00 13800
[uC625 | 28E% [ 16500 | 60% 17,000, 17,300, H:14,800 A5E ] | 13,900 664 | %:14,100, £:14,800, B:12.600
[Jis27 | 281 | 16500 | 60 |5 17000 $%17300. H 14800 | aseryi | 12500 | 70% [ /3% 18700, £13.700. E12000
N T 61% A% 16300, £ 16800, H16500 4SEE] | 12300 | _70v | B 13,200, £13.700, 612000
[CuLsai [ 28E 85| 15500 | 62s [ 5% 16:00, £.16.800 35ERT] 12300 | 705 [A% 13200 £ 13700, 6 12000
[oL63s 8 | 15500 | 62% |%16,000, 15300, H:16,300 A5E] | 13,200 68% | #:13,500, 13,100, B:14,200
[JLsa7 | 28 | 15800 | 6% | 16300, £ 14800 B17000 [ 4sEji| 13600 | 67 | 10700 % 14200 E 12700 HTAT00
639 | 26EIfI | 16000 | 61% |A:16.100, K 16,300, %16,800, F:15800, B17.300 45EIFT [ 14.100 | 664 |/K:14,200, %:15,100, £:13,700, H:15,400
A% | _Ji22 | 28EAT| 15500 | 624 | Jokd 16000, 17300 4S5BT 13000 | 68 [JOK13500. 214100, % 15200
[“Jtozd | 28581 16300 | 60w 16,000, % 18,000, F17.200, B16500 4SEE] | 13700 |67 | /13200, 12,400, 14,200, E12000
[CuLeze | 28E8i] 16300 | 6on 300 F 16,800 15200 a5E | 13700 | 67% | A 13200 & 12.400. £ 14700 B 12000
[CoLs2e | 28E8] 635 | 715800, K 14,800, & 16,300, 14900, FL16800 45EET] 13100 | 68y | 14200, 614,700
[CLss0 | 26B 81| 16000 | 61% asEp] 13200 | 6wn [AH 1450
[Lesz | 28E81] 15500 | os [ ASEH] | 13200 |68 | F13500. 14900, H15700
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[C505 28 EIA] 14400 | 62 & F:10600, A Tas00 ] 62 [ $:16.600. 19,100, Bi2100 ]
[JCs07 | 28E1gi]17.800 | 53 [&22.700, £22.000, oo ] i [ $:19.200. T 20,400, Bizto0 ]
506 | 28] 17,000 | 55 | A.17.500, .17800. 22,700 F22900, HL14400 555 16,000, 7. 17,300, 16,200, F20:400. BL12700 |
[oCs 11| 28 IAT] 17500 | 53 | IR 7,000, 822,700, 22900, ;14,400 595 116,000, . 17300, 19,200, F 20,400, 12,700
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[JLeii | 28BN | 15400 | 65% 715,700, % H:16.50 45E AT 4.400
[JL613 | 28EAT | 15500 | 645 |F:15.800. A:15.700. &:17.000. +:14,800, H:16.800 45E AT ISIGO;&MGOO;iMZBD.EIMBED
615 | 28R | 15600 | 64% 800, :15.700. %:17.200. +:14.800. H.16.800 45E AT 15,600, 13,600, B:14.900
FM% | _JL606 | 26HH] | 15300 | 65% 200, 7K A:15.500, £:16.300, 45E AT 15,100, B30
[JL60s | 28EWT | 15500 | 64% [dr:i5 +16.800. H:15.300 45E AT
[JL610 | 28EIAT | 14800 | 66% [F:16.300%C15.300. $:16.000. +:15.900, H:16.800 45E AT
612 | 28R [ 17000 | 61% |KA:16500. %:18.600. F:15900. B:17.800 45E AT
[J614 | 28EAT | 17.000 | 61% [KA:16500, +:15.900. 45E AT
[JLeis | 28ET | 15500 | 64% 000, +:14.800. H:17.500 45E AT
TR (RE)-ReA | W (M) % | JL623 | 28EIAT | 14600 | 6a% 100 £:16.600 45E AT [2:12.200, :13.800
[JL625 | 28ET | 16500 | 60% 000 :17.300 ERTET 45E AT [:14.100. +:14.800. B.12.600
[JL627 | 28EAT | 16500 | 60% 000 % +:17.300, H:1 45E AT ¥; 12,700
[JL629 | 28ET | 16000 | 6% SSn 5300 B8 500 45E AT 14400, £:14900. H.13.900
[JL63i | 28EAT | 15500 | 625 16.300, :16.800 45E AT [A%:14.100. £:14,600, B:12.900
[JL63s | 28ET | 15500 | 62% 000, +:15.300. H:16.300 45E AT 13500, 13,10 0
[JL637 | 28EAT | 15800 | 625 300, +:14.800, F:17.000 45E AT 700, 2:14.200, 12,700, B:14.700
639 | 28EA1 | 16000 | 61% 100, 7K:16.300. %:16.800. £:15.800. H:17.300 45E AT k14200, %:15.100. £:13.700. B:15.400
TeA% | Ji622 | 28EAT[ 15500 | 625 [AK#:16000, £:17.300 45 E AT oK. 13,500, %:14.100. £:15.200
[JLe24 | 28ET | 16300 | 60% 500, 2¢:16.000, %:16.000, 17200, H.16.500 45E AT [ki3oo K.14200. H:13.900
[JL626 | 28EAT | 16300 | 60% 45 E AT
[JLe2s | 28EMT | 15300 | 63% 45E AT I
[JL630 [ 28EAT [ 16,000 | 61% N 45 E AT ¥; _ %14.200, 13,900
[JL6s2 | 28EMT | 15500 | 62% 000, %:17.000. H:18.400 45E AT I £.14900. B115.700
[JL634 | 28EAT | 16500 | 60% 100 £:15.800. 45 E AT 1 snu %:15.900_£:13.700_ H:16.300
638 | 281 | 10000 | 76% 13.000. H:12.300 45E AT Tk 00. H:10.200
641 | 2881 [ 12500 | 71% 45 E AT gn.snu
643 | 28EM | 14000 | 68% |:17.500 45E AT £:12.400
645 | 28 A1 | 14000 | 68% %:16,500_ £:18.000 45 E AT A2:13.600, £14.400
647 | 28EA1 | 13,000 45E AT
[JL649 | 28EAT | 13.000 45 E AT
[JLe51 | 28EM | 13.000 300, 516,800 45E AT H:12.100
653 | 28 A1 | 13000 (16,000, B:17.100 45 E AT H:13.100
655 | 28 A1 | 13000 | 70% | #1550, B:17.300 45E AT §:13.100
BERER 640 | 28HA1 | 12,100 | 72% | K& 15.100. F:16.600 45 E AT
642 | 286 M1 | 14000 | 68% | 45E AT
644 | 2881 | 13000 | 70% [+ 45 E AT
646 | 28 M1 | 13000 | 70% 45E AT —
648 | 28 A1 [ 16000 | 634 45 E AT [E12.400
[JL650 | 28 BT | 14.000 | 68% [H:17.000. ok ne 0. TS 45E AT
[CJies52 | 28EAT [ 13.000 | 70% 500, H:1 45 E AT
654 | 28 M1 | 13000 | 70% |%:17.500. B:17.900 45E AT
(BB (P ED) ~FLI (3 T | & B (AR #|_JL3103 | 28H AT | 21.100 | 504 25,300, H:19.800 45 E AT 24,300, H:18.600
[JL3105 | 28T | 14600 | 65% £:24.800. H:19.800 45E AT % 123600, H:18.600
[UL3107 [ 28 BT | 14600 | 655 19200 45 E AT $:13.300, +:14.200, H:13.800
3115 | 8B | 14600 | 65% |+ H:16400 45E AT [ B:12.900
3117 | 28HAT | 14,000 | 67% 600, £ H:16.300 45 E AT [ B:10900
FLAR (37 F#%) %_JL3100 | 28 AT | 14.600 65% 16.400 458 #1 | £ 8:12.900
3106 | 28HAT | 14.600 | 65% |+ H:16.400 45 E AT £ H:13.800
0 [ 2861 | 20200 | 524 | A:20.400. %:20800. F:19.600. 5:22.500 45E AT 7:19.300. %:19.700. T-18.600. 521400
4 [ 28EAT | 20200 | 524 [F:20.400. $:20.800. +:19.600. H:25.100 45 E AT £:18.600. H:24.000
8 | 28EIWT | 14600 | 65% [+:16.400. H:25.700 45E AT
ZEEME EEE (UMD 1| 2881 [ 12300 | 67% 45E AT
7| 28EW | 12300 | 57% 45E AT
BAR 7 [ 28EAT | 12300 | 67% 45E AT
s | o8B | 12300 | 57% 45E M




o =
T%BEI5 EER (6A22~30BERS)
ERHEA : 2018/03/28 ~
I
Eiize FRITE
= = (5 A [
BA CEES
RE AR R (5T B)| R GAE) 5 |_JL593 % 13600, £16.300 45EF1 8700 77%_|%9500_£10700
[uLs01 %:13,600, £-16.300 45EF | 0700 78| %:13,500, +:15200
[uLs03 714,100, $:19,600, 22,200, B-13500 45EE | 10700 | 71% | 13400, %-13500, £:15400
[uCs05 %:19,600, 22,200, 13500 45EH] | 14.300 | 625 |%:16800. +20,700, H:12.100
[uLs07 %22,700, 25,200, H:14,400 45EF] | 17.300 | 54% |%:1900. +:24,300, B:12.100
| JL509 17500, A:17.800, $#:22.700, 125200 E 14,400 458 F | 15500 50 [A \5000;Xﬂ.‘bﬂﬂ;E\DZﬂO;tZJJﬂO; H:12.700
[Cutsii 45EF | 15500 | 69% | H:16000. A:17,300, :19,200, 24,300, H:12.700
HE 45EE] | 12900 | 664 | 14300, 18,500, +:18,300, B:13.100
E %1500, £:16.900. 114,00 45EE] | 12100 | 68% | 13400, %1490, £:15,800, H-13.700
[Cutsi7 %:14,500, 16,300, 14,100 45EE] | 12100 | 68% | 12900, %:14.400, £:15.200, 145600
L %14,500, 16,100, 14,100 45ER] | 12100 | 68% | 12900, %:14.400, £:13.200, 13,800
[Cutszi %:15,000, 15,900, H14,100 45EE] | 12300 | 675 |A.13,300, 14,800, £:13,000, 14500
[CuLs2s %:15,000, 15,900, H14,100 45EH] | 12300 | 67% |&:14800. £:13000. H:14.600
[CuLs2s %:17,500, 15,600, 14,100 45E R | 12300 | 67% |%:14800, £:12,700, H:14,600
[Cuts27 %:19,000, 15,200, 615,500 45EE | 13800 | 635 |&:17500. £:12300, H:15.400
[CuLs29 %:19,000, 15,200, 615500 45EE] | 13800 | 635 |&:17.400. £:12300, H:15.400
[CuLsat %:17,000, 14,000, H:14,800 45EE | 11700 | 69% |&:15500. £:11,100, H:13.800
[uL509 B:14800 45EE | 12100 | 68% | H:13200
[FL0R (37 7 M) ]_JL500 % 15800 17300, H13500 45E1 | 13200 | 65% |%+:13.800. 11500
[uLs02 JK:16,000, %:16,800, 117,800, H:13,500 45EE | 14400 | 625 | %5000, H12.100
[uLsea k16,000, 16,800, 17,800, H:13.500 45EE | 14400 | 625 | %:15000, H:12,100
[uLs0a [F:16,100, 15,700, £-16.700, H:14400 45EE | 13200 | 65% |%:13800. H:13.100
[uL506 [£:14.900, £:14.800 45EF [ 12100 | 68% | 12,700, H:14.200
U508 14,600, 14,400, H-14900 45EF [ 11500 | 69% |%:12,100, H:14.800
[Cucsi0 14,600, 14,400, H16.000 45EF | 11500 | 69% [ 12,100, H-154
[Cutsi2 [%16.500, 16,300, H-17.500 45EF | 14500 | 61% | 14800, 15000, £-15200, H17400
[Cutsia 16900, 16,300, 20600 45EF | 15300 | 59% | %6800, +:15200, H:20.500
U516 [7:15.700, 17,000, 16,300, 621600 45EF] | 15300 | 60% |A15600, 16900, £-15.200, H:20700
[usis [$5:17.300, 16,300, 521,600 45EF | 15600 | 68% |&17.200, +15200, B21.100
[CuLs20 17500, 16,300, 521,600 45EF | 14500 | 61% | H.15000, 417,400, F-15.200, H21.100
[Cuts22 17500, 16,300, H:21.600 45EF | 14500 | 61% | H15000, 17,400, £:15.200, H:21.100
o524 17500, 15,900, H:20600 45EFI | 14500 | 61% | 15000, 17,400, £-14,800, 620500
[CuL526 [$:17.500, 14,800, H:19.900 45EF | 12100 | 68% |&17.400. £11800, H:19.500
[uLs28 15,400, 13,600, H:16.400 45EF | 11500 | 69% | 15300, £:10,700, H:16.300
[CuLs30 15,400, £:12,600, H:16.400 45EF | 10500 | 725 | 13200, £9.700, 513800
98 H:15.200 458 F | 11500 69% | H:14.800
R (7 FD LR (57 8| 0 () %6 | _JL2001 © 24000, 515200 45EF1 | 18500 | 604 |%:22.700_ 23000, H.14500
[CJL2005 % +23900, 817,200 45EF | 18500 | 60% |&21400, +23800, H:15.900
[CJL2009 (£ H:13800 45EF | 11700 | 75% |+ E.13300
2019 T H.14800 45EF | 12700 | 73% | E.14300
[FLOR (37 7 #%) 3]_JL2000 £ H:14800 45EF1 | 12700 | 734 [T H14300
(L2006 22,700, H:18.300 45EF [ 15000 | 68% | 20400, 17,000
[CJL2010 %1870, 22,700 625700 45EF | 19600 | 68% | %1730, £20900. H23600
[TJL2016 18,700, 22,700, H:24.900 45EF | 19600 | 68% | %1730, £20900. H:23.700
[ L2501 % 20,300, 22,900, H:15200 45EF | 15900 | 664 |%:17,900, £21.300, H:13,500
["JL2503 +E.11.800 45EF [ 0700 70% |+ B11.300
2505 T H11.800 A5E Al 9.700 794 [T H.11300
[FUOR (37 7 #) ]_JL2502 T H.15300 G5B | 14300 | 69% [+ H:14800
[CJL2504 16100 45EF | 14800 | 68% | 15600
2506 #:17.800, 21200, H:16,800 458 F | 15400 67% | %14200, +:19.100, H:14,900
RIE)RA | BR GH) % | _JLldl 45BF | 13800 | 50u
[CuCias 45EF | 14300 | 68%
[CuCias 45EF | 13300 | 6%
[CuCiar H16000 45EF | 13700 | 60% |E 15500
[CuLiag % 516000 45EF | 13700 | 69% |&H15500
[ JLis | #H:15300 458 F [ 13300 61% [#H:14800
wHE | o | son | a5ERT | 12500 | 6rh
[CuCiaz FEE 15000 45EE | 13700 | 60% |SFE14500
[CuCias %+ H.15000 45EE | 13700 | 69% |+ B 14500
[CuCia6 % 5:14.300 45EF | 13300 | 6%
[CuCias % 5:14.800 45EF | 13600 | 59% |BENIA600
150 458 F [ 13300 61%
TR oA R () % |_JL155 45E | 15400 | 634
[CuLis? 45EF | 15400 | 53%
[uLise 45E W1 | 15400 | 53%
A% |_JLisk 45E | 15400 | 634
[uLis6 £ 16900 450 | 15400 | 53% :a;vunn
158 #:16.900 45E 15.400 53% [#:16,
TR CHE) % |_JLi6l 14,700 T H:10.200 45E | 14000 | 4o :a;vzsnn £ H0400
[JLies ﬁﬂmm 15 10200 45E | 14600 | 47 |+ HO:
[uCies ET=HT 45EH [ 11600 | 68% [+ mn
[oCi67 gzmsan xa 0200 450 [ 13200 | 62% [%:14300 T H
wEge [ JLie2 | EH:I 45Ef] | 15300 | 454 | 15400, T H:9.400
[uCies ﬁwsa«m 15 70200 4501 [ 11500 | 68% [ 13,100, F H9.400
[uLi66 % 18,000, T H:10.200 45EH1 | 14000 | 4o% ﬁman FH9400
168 1 H:10.200 45E 15.300 45 [1H
TR FE Al TR (PR | _JL23t #:12.600, £ H12500 4SBT | 11500 | 664 ﬁumn EH10800
[ur2ss 12,800, T H:12.500 45E R [ 11500 | 6% |12,
[Cur2s7 12,700, T 612,500 45EH [ 11500 | 66% a;us
[CuL239 [ H:12.500 45EH | 13700 | 50% :a;msnn iEI T1.500
241 [EH12500 45EH | 15300 | 6% [FET
Bl |2 12500 45EH | 11500 | 66%
[Cur2ss % 13,200, T H12500 45EHI | 14200 | 68% | %1270 TE 11500
[CuL236 12,800, T H:12.500 45EHI [ 11500 | 664 [&:11600, F H-10800
[_JL240 #:15300, + H:12500 45E I 14.300 584 | #:14600, £ H:11,500
L242 #:15900, + H:12500 45E 14.900 564 [#:15100, £ H:11,500
R (TE) L8 TR (HE) % |_JL253 45E | 12300 | 644 |+ H.11800
[uL2s5 16,100, T 512600 45EHI | 16600 | 624 [%:16800, FEITI00
[ur257 16,100, 612,800 45EHI | 16600 | 62% [%:16800, + H-11,100
[ur250 17,100, T 612,800 45EHI [ 16000 | 64% |%:16,100, X H:11800
o261 14,300, T H:12.800 45EHI | 12300 | 64% | %1250, X H.11800
[uL263 14,300, T 612,800 45EHI | 12300 | 64% | %1250, X H.11800
[uL265 15,800, T 612,800 45EHI | 14800 | 67% | %1500, X 11800
L267 #:16,300, + H:12.800 45E 15.300 564 | #:15800, £ H:11,100
[ A [£5.12.800 45E | 13200 | 624 [EH:I1,100
[ur25e [ H.12800 45EHI | 14800 | 67% |+ E.11800
[uL256 [%.13.400 45EH | 12300 | 64w 12,500, 11600
L2586 13,400 45EH | 12300 | 64w 12,500, F 11,800
[CuL260 16,000, T H12.800 45EH1 | 14400 | 68% 15,200, H.11,800
[uL262 16,000, T 612,800 45EH1 | 14400 | 68% 15,200, F 11,800
[uL264 16,900, T 612,800 45EHI | 15900 | 5a% 16,400, F 11,100
L266 #:17.400, + H:12.800 45E 16.100 53% 16,600, £ H:11.10(
R OE)-K5 TR (M) % |_JL661 114800 4SBT | 14000 | 654 14,500, +:14,900, H:12,600
[uLe63 17,000, T18.100, amou 45EH1 | 14600 | 63% |%.15,100, £ 15900, H.13.700
[ JL66S X 7K %:16,000, :18,00( 45E I 13.900 65% [ JK14,000, %:14.400, 115400 H:13.200
[_JL667 B A:15900, B \6500 45E 13.100 67% [#:13900, 313300, B:14,
[uL669 A% 16,000, 518500 450 | 13500 | 6% |%:14,400, H:15.400
671 #:17.200, B:17.300 45E 14.100 65% [#:15.100, H:15200
XA%E | _JLee 15,300, 15,800 45E] | 12600 | 684 |A:13,100, #.13,700_ 14700
[_JL664 $\5700 #:16.500, 1\70{]0 H:15.100 45E 12.900 68% 13200, 13,700, £:14,600
[uLe6s T'E-16.00( 4501 | 13200 | 67% | 213600, +13900. H:14.100
[_JL670 ] mmm 458 [ 13200 67% [#:13,600, £:13.900, B:14,100
[_JL672 A \7000 ﬁEI 17,900 45E 14,000 65% [#:15800, +:13.900, B:15,700
674 BE 45E1] | 12600 | 684 [%14400, F12400, F:14:300
B CAM) % [ JL605 | 1ma4m 45B# | 12400 | 72% | +14200, H:11,600
[_JL607 17,500, #:18,500, £:19.100, H:15,300 45E 13.900 68% | K.15400, #:16.400, 17,300, B:13,500
[_JL609 7K:15,500, :15.700, # H:16,500, :16,000 45E 13.700 69% 13200, 7K:13.400, 13,500, #:14,600, £:14.400
[_JLett 7K:15,500, 15700, # H:16,500, 116,000 45E 13.700 69% 13200, 7K:13.400, 13,500, #:14,600, £:14.400
[_JL613 515,800, A:15,700, %:17,000, £:15.300, H:16.800 45E 13.500 69% [ 13400, 713,100, %:14,600, £:13.700, H:14.900
| JL61S 515,800, A:15,700, #:17.200, £:15.300, H:16.800 45E 14.300 67% [7K.14000, #:15,600, 14,700, H:14,900
R | _JL606 515200, KA:15,500, #:16.300, £:17.70¢ 45E 14.300 67% [#:14800, 16,400, B:13.700
[_JL608 K A:15,700, 45E 13.500 69% [A7K 13400, %4800, £:15,300
[Cut6io 16300, 45801 | 13200 | 0% 13, 13,500, % F14,100, H14900
[Cuteiz KA:16,500, 16,300, H:17,800 45E 01 | 16000 | 635 |AKA:15500, H:16200
[Cuteia KA16500, F:16,300, H.17.800 45E 01 | 16000 | 635 |AKA15500, H:16200
o616 18,000, 15300, H:11.500 450 | 13900 | 68w 16,400, ;f.mma B15500
R (HM) % |_JL623 15,100, 16,600 4SBT | 12000 | _71% 12,200, E.13,
[ute2s 17,000, £18,000, FT 4501 | 13900 | 66% 14,100, xmno B2,
[ute27 17,000, 517,300, 1mmm EI 2900 450 | 14200 | 65% 14,800, % 15,100, xvssua B12.700
[ _JL629 B #:16.300, £:17.400, B:1 45E 14.100 66% 14400, 15,100, B:13;
[_JL631 A #:16.300, 117, 45E 13.200 68% [H# 14100, £:15.100, Elvzsua
[_JL633 #:16,000, H:16,300 45E 13.200 68% [#F 13500, H:14.200
[_JL637 #:16,300, $:15300, B.1 45E 13.600 67% [H:13700, 14200, £:13.200, B:14.700
639 F:16,100, 7K:16,300, ﬁmum £:15.800, H:17.300 45E 14.100 66% [ 7K:14200, #:15,100, £:13.700, B:15.400
[Z3 3 A 7K 16,000, +:17.900 45E ] | 13000 | 684 | XK:13,500, 14300, T.15300
[_JL624 517,500, X:16,000, % 18,000, H:16.500 45E 14.900 64% [ 135600, KA 14200, H:13,900
[ _JL626 515,800, X:15,300, :16,800, H:15200 45E 14.200 65% [H:13700, X:13,100, 14,700, B:12,900
[ _JL628 515,800, 714,800, %:16,300, £:15.500, H:16.800 45E 13.100 68% [ H:13700, 712,600, £:14.200, B:14,700
[_JL630 J5:17,500, %:17,000, £:16,500, H:16.900 45E 13.200 68% [AH.14900, 14200, £:14,100
[utes2 716,000, 217,000, H:18.400 45E 0] | 13200 | 68% | H:13500, 14900, +-13,900, 16700
[Cutess a;mum 1ma4m ] mwo 450 | 14200 | 65% | H:14500, 15900, F-14,400, H.16300
[oL638 0. 45811 | 8000 Bi% $:10900, 8,100, F.10200
HR R -ERE | B CHm) % |_JL6dl 1mmm 4SBT | 10100 |_77%
[Cuteas 45E 0 [ 11600 | 3%
[_JL6ds 7K$$\6500;1 18,000 45E 12,600 T1% Kﬁ \Jbﬂﬂ 114400
[utear 45E W [ 11900 | 7o
[uLeas 45BN [ 11900 | 73%
[uest T30 4SBT 10600 | 76 |E12600
[oLess XZ:16,000, H:17,00 451 | 10600 | 764 |H:13,100
[oLess K2 15,500, H:17,300 451 | 10600 | 764 |H:13,100
BRER | _Jbi0 5B T0800 | 7o
[reiz a5ER] 1600 | 7
[oreis 5B 1] T0600 | 0%
[reio 5B 0600 | 70
[Cress 5B 1600 | 7o BT
[oteso 5B 1600 | 7o (B
[Jies2 £ 17,500, H:17.900 45 | 11900 | 73 500, 14900
[oLese £ 17,500, H.17.900 45 [ 11900 | 73% [ 213900, H:14900
(A @ e J2i2s 25,100, 25,100, 520600 45 24,000, T 24800 H19900
[i2ios 23,000 5B 5521500
KR (B -ReA KR (67 % |_JL2383 £ 13,100_H12300 4SBT B H:12,100_% £.12.600
[JL2385 F14,100, ﬁuzno 15,100, H12.900 4581 F:14,200, 413800, 14,700, E.12.200
3681 =
[CJC2389 H.15.100 E=T R:12.900, 13,700, £:12,100, B:14600
B | L2382 13,600, 14,700, H:13500 45E 1] 12,900, B.12.400
[JL3880 13,600, £ 14800, 513500 — -
2386 #1H:13700, 3:14700 4581 | 12200 54% |28 wzsnn 114200
2392 KA 14.70C 100 4581 [ 13300 49% |7k 14200, 14,800, B:14,700
BE R (P8 FLIR (F T B[R 5 (8 3 _JL3103 [#:25,300_ + 28,800, H:19.800 45E | 19700 | 534 ﬁzunn +27, ma EI 18,600
[CJL3105 24,800, F27,300, H.19.800 45E 1 | 14200 | 66%
[ucsior [£H:19200 45 | 12900 | 69 ﬁn@ﬂn :—.uzﬂn EI 13,800
L3115 516,400 451 | 12000 | 71% |+H.12.900
3117 [% 14,600, T H16:300 451 | 10000 | 76% |+H.10900
L8R (37 72 5{_JL3100 [£H.16400 45E 7 | 12000 | 714 |+ H:12900
[Lsios ] £ B 16400 5B | 12000 | 60 [T 13800
L3110 2500 45E ] | 19.100 | 54% |F:19300, £:19,700. H21.400
[CJL3iia /520,400, 20,800, H.25.100 45 | 19,100 | 54% | F:19,300, £:19,700, H:2,000
3118 16,400, H:25.700 4581 [ 14200 66% |1:15.100, H:24700
A T T T e, 45 11300 | b
[CLasry 5B 11300 | bt
FaE [ 5B 11300 | bt
4378 5B | i.300 | bt
R GTE WL WAE |J2s0r F&15500. 1wsaoo H13.100 45B 7] | 9.300 10200
["JL2903 A2 1550 13, 45 | 9300 10200
[JL2905 15,000, tuson E.13.400 45 | 9300 10200
["JL2907 15,000, 14,900, 513400 45 | 9300 10200
2909 14,500 0, £ m:mo‘ H:14.800 4581 9.300 10,200
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11100 | 76%
9.400 80%
9.400 80%
12100 | 74% |B:14.100
9.400 80% | H:10.400
10400 | 77% |B:11.400
9.900 79% | H:10.900

JAL



JAL

[R——5%1G1EEXRBRAI~THEES)

EE#EMAA : 2018/03/28 ~

8/1-7

=40]

R (FE) =AU (T F )| RRCABE) %

7K:18.200. 24,900,
18,700, 27

18.400
5:20.800, £:17.400
:20.800. £:17.200, H:19.800
[5:20.200
:19.800. £:20.300
20,800, B:18.700
19,800, £:18.700
19,700, £:19.200, H:20.200
119,200, £:18.700, H:20.800
|$£:19.200, F:18700, H:20.800
:20.200. £:18.700, H:20.800
20,800, £:19.200
20,800, £:20.200
20,800
%:21.200
KA:21.200
A:21.200
20,800 20,000
:20.200. £:18.000, H:20.800
:19.200. £:17.000, H:20.800
:20.800

FLIR (3 %) 5

R CRE)=#EX RRCAE)F [ J

:22.100. 2
(:22.900. 7
(:25.100. 7
100, JK:16.700. N
800, K:25.200. 7K:16.500. :17.700. %:22.600
600, K:17 300, +:22.100, B:21.800
:17.800. A1

(:17.100, K1
.600. 71
500, 7
:17.100. 7
:19.300. 7

00, +:19.900, H:19.400
:18.300, 1:19.400

AR

RRCAB)=ERE | RR(FE)R

:23.200. 7K:15.700.
.000 50% :15.700. A:17.100. .

oo o |
N h
o]

S|
S|
|
=|

.500 49% :16.600. A:17.600. .300. H:22.000
BEREH 300 78%

000 74%

300 78%

.300 78%

.000 74% :13.000

.300 78% :11.300

800 7% :11.800

300 | 78% [H:11.300




TR—N—%GIHEER(BA18~24BEFEN)

EEBEAB 2018/03/28 ~
i) ZE//]\S—Z;E?%
=40] Ea | BAH
BB ERE
RECRE) =L (FF&)| RRCHE) % 55 5.500
55 5.500
55 7.000
55 .600
55 .600
55 .600
55 .600
55 .000
55 .500
55 .500
55 .500
55 .500
55 .500
55 .600
55 .600
55 .600
55 .600
FLIR (3 %) 5 55 .300
55 7.900
55 7.900
55 .800
55 .100
55 .500
55 .500
55 .100
55 .100
55 .300
55 .300
55 .300
55 .100
55 .700
55 .200 59% 20.
55 .600 61% :17.000, £:17.300. £
55 .600 61% [H:17.000, £:17.300,
FR(CRE) =R RRPE)F [ J 55 .100 72% |K&
55 .000 68% | K2
55 .400 67% |A:
55 .400 65% |H:15.600, £:15.900,
55 .400 7 F:14.900, A:14.600. N 00, H:17.900
55 .300 7 F:14.700. 7k:13.800. £:15.100. £:16.100. H:15.600
55 .600 4 X 7K:14.000, K:14.600. 1 8.
55 .300 7 H:15.400. &:14.600, £:
BEARF 55 26.300
55 26,700
55 26,700
55 26,700
L 55 26,700
L 55 26,700
L 55
L 55
ERCPE)-ERS RERCRE) % L 55
ERBR 55 E 200
300 | 54% |+E
.300 75% | H:18.800, :15.800. 7} .300, 1+ H:26.200
.300 75% | H:18.800. X:15.800. 7K:13.300, £ H:26.200
.300 54% |+ H:26.700
.300 75% | H:18.800. X:15.800. 7K:13.300, + H:26.300
.300 65% | 8:19.300, + H:26.500
.300 75% |H:18.800. X:15.800. 7K:13.300. + H:26.200

JAL



TR—N\—%GIHEEXR(BA2~IIBEEN)

EBEREAB 2018/03/28 ~
1 =l
=40 E5 | BAR is
® | &mm |50
" | mai=
TR RE) ARG TR Fx (R 55 000 | 65% |3
55 .000 65% | &
55 .300 59% |4
55 .300 59% |4
55 .800 58% | Y X
55 .800 58% | kJK:16.300. 200,
55 .600 61% |:19.400, +:20.800,
55 .000 62% |£:16.200, t:
55 .500 61% |Y
55 .500 61%
55 .800 63% 215,
55 .800 63% :15.800, 1:16.400,
55 .800 63% o :16.000,
55 .600 58% | X
55 .600 58% | X7
55 .600 61% | X7
55 .600 61% | X7
EEAEEEE" 55 300 | 504 | ki
55 .800 58% | X
55 .800 58% | X
55 .300 59% | X
55 .100 60% |&:
55 .500 61% |+
55 .500 56% |&:
55 .100 55% |&:
55 .100 55% | AK:18. 00, H:23.200
55 .800 58% | X 300, £:1 3.600
55 .800 58% |4 00, 00
55 .800 58% |4
55 .800 58% |4 00,
55 .700 58% |4 00,
55 .800 60% |4
55 .700 63% | Y
55 .700 63% | Y
R (HE)=fEA RRCEE)FE | J 55 1.500 74% |4
55 .400 69% |4
55 .400 67% | &
55 .400 67% | &
55 .900 68% | Y
55 .400 69% | &
55 600 67% |Y
55 700 69%
RERHR 55 .100 65% | X
55 .600 64% | Y
55 .600 64%
55 600 67% B
Lf 55 .400 65% B:
Lf 55 .900 66% B:
Lf 55 .400 65% B:
Lf 55 .200 63% A:
RR(PH)=ERS RRECPA) % L 55 .300 78% [+
.300 78% |t
.300 78% |+
.800 17%
.300 8%
.300 8%
.300 8% 1.300
.000 76% 4.000
ERER 55 .700 17% £:11.100, + H:11.300
.300 73% 13,000, + H:21.300
.300 75%
.300 75%
.000 70% |k AK:12.300, + H:21.300
.300 75% :11.800
1.800 74% | K:12.000, £:14.000. 1:16.300. H:16.800
1.300 75% :11.800

JAL



[R—/—%BIBER(TAI13~15BERS) AL

EE#EMAA : 2018/03/28 ~

) 7/13 7/14 7/15

) % | A (2osas [ aoas [aocoas
BB B | ER ERE

R CRE)=HEX RECPE) R

]
=ES
S|S|S!

N
S|

N
S|
S|S]

o
S|
S|

o
S|
S|

=
S|

o

AR

N
S|S]
S|S]

o
3]
S|S]

o|o

oo
5|3

S|
S|
S|
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S|
S|

o
S|
S|

|

RR(PE)=ERE | ®RRCAE) R

o
S|
S|

s [0
S|S|
S|S]

ERBR

|
S|S]
S|S]

|
S|
S|

|

|
S|
S|
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EE#EMAA : 2018/03/28 ~

[R—N\—%FGIHEEXR(BAS~15AEBES)

=40]

8/15

R (FE) =AU (T F )| RRCABE) %

FLIR (3 %) 5

R CRE)=#EX

RRCAE)F [ J

AR

RROPE)=ERS

RRECPE)#

ERBR

[ 21300 ]
21.300

23.100

[ 21600 |
22300 |
21400 ]
23.500
22.800
22.800
[ 23900 |
23400 ]
23.700

AR5l
AR
00
00
00
00
00

24.200
24.200

19.000

21.300

22.800
. 23.200 .

. 23.400 .

JAL



EE#EMAA : 2018/03/28 ~
=40]
R CRE)=HEX RECPE) R

AR

RR(PE)-ERS

RECPE)#

ERBR

TR—N\—%FGIEEXRBAI6~1THEEN)

JAL



[R——5%BEER(OAI~I3AEBESD)

EEEMAA : 2018/03/28 ~
9/3-13
=40} . A—I—%15
SBRE Prikg &
R CRE)=HEX R (FE) 1.500 72% £:12.800, £:13.500
400 | 67% |A:14.100. £:14.400, £:14.600. H:12.500
100 | 66% |%:14.400
200 | 63% | HA:14.700.
900 | 66% | kK:13.400.
400 | 67% |/K:13100. &
600 3 13.000.
600 114700, %
AR 100 2100, A:13.800.
700 114600, £
600 14100 _
600 14,600, 7K:13.000, %:14.100
800
.900
700
600
RER(AEB)=ERS RERCRE) % .400 0.400
.400 0400
.900 0900
.900
.900
.400
400 78% | H:9.900
10.100 | 77% [H:11.600
ERBR .700 78%
11100 | 75%
9.400 78%
9.400 78%
12100 | 72% |&A.11.300. H:13.100
9.400 78% | H:10.400
9.900 77% | H:10.900
9.900 77% | H:10.900

JAL



TR—N—%FGIHEER(OA18~0BEEN)

EEEMAA : 2018/03/28 ~
9/18-20,9/25-30
B - Z—%
SBRE Prikg &
R CRE)=HEX R (FE) 1.500 72% _[:X:14.000, A £:12.800, F:13.500
100 | 66% | X:15.100. JK:13.400, +:14.600. H:12.500
100 | 66% | X:14.600
800 | 64% | kK:14.700_7
300 | 65% | X:14.700. 7K:13.400,
100 | 66% | X:13.900. /K:13.100,
100 | 66% |k
600 | 67% |4 .
AR 600 7K:13.100. &
600 KA:14700 £+
600 7K:14.100
600 7K:13.000. %
800 XK
900 | 66% | k-
700 | 64% |k
600 77%
HR(PE)-ERS | mRCHE) % .400 78% | 4:10.900. £:10.400
.400 78% [ 10900, £:10.400
.900 77% [ k+£:10.900
.900 77% | X:14.400
.900 77% | X:14.400
.400 78% | X:10.900
400 78% [ J:11.700. H:9.900
10100 | 77% |X:12.400. H:11.600
ERBR .700 78% | X:13.200
11100 | 75% | X:14.600
9.400 78% X
9.400 78% [
12100 | 72% |k
9.400 78% X
9.900 7%
9.900 7%k

JAL



[R—/{—%BIBER(0A1~4BEES) AL

EEEMAA : 2018/03/28 ~

0/1-4
=40} T A== F
SBRE Prikg %5
R CRE)=HEX R (FE) 1.500 72% | A:12.800
400 | 67% | A:14.100
100 | 66%
700 | 64% | kK:14.400
900 | 66% | ksK:13.400
400 | 67% [K:13.100
.000 | 68% | H:14.600. A:13.600
600 | 67% |H:14.700
AR 100 | 66%
700 4% | 4:14.600
600 2% [ AOK14.100
600 7% | H:14.600, K:13.000
600 2% [
900 | 66% |A:
200 | 65% |k
600 77%
RR(PE)=ERE | ®RRCAE) R .400 78%
.400 78%
.900 77%
10.600 | 76% [A:11.600
.900 77%
.400 78%
400 78%
10100 | 77%
ERBR .700 78%
11100 | 75%
9.400 78%
9.400 78%
12.100 | 72% [KA:11.300
9.400 78%
10600 | 76%
9.900 77%




[R—N\—%FGIHEEXR(10AI~18BEFEN)

EE#EMAA - 2018/03/28 ~
0/9-18
X . A—I—%15
BRE | wis
R CRE)=HEX RECRE) # 1.500 72%
400 | 67%
100 | 66%
700 | _64%
.900 | 66%
400 | 67%
600 | 64%
600 | 67%
AR 100 | 66%
200 | 63%
600 | 64%
600 | 6a%
800 | 64t
.900 | 66%
700 | 64%
600 77%
RR(PE)=ERE | ®RRCAE) R .400 78% [ :X:10.600. .
400 78% | 2:10.600, £:10.400
.900 77% | 2:10.600, %:10.900
11600 | 73% | X:13.000. KA 1:10.600
.900 77% | :13.900
400 78% | :12.700
400 78% | 2:10.600. H:9.900
10100 | 77% | A:11.300. :11.100. H:11.600
BERBR 700 78% | 2:13.000, 1:10.200
11100 | 75% | X:15.100
9.400 78% | :14.400
9.400 78% | :13.900
12100 | 72% | X:14.600. K:11.300. H:13.100
9.400 78% | 2:13.900. H:10.400
10600 | 76% | X:13.400. £:12.600. H:13.600
9.900 77% | 2:13.400. H:10.900

JAL



[R—/IR—%BHEEXR(10A19~27THEES)

EEEAA : 2018/03/28 ~
T0/19-27
X . A—IN—%15
SBRE Prikg W&
R CRE)=HEX R (FE) 1.500 72% £:12.800, £:13.500
400 | 67% |A:14.100. £:14.400, £:14.600. H:12.500
100 | 66% |%:14.400
200 3
.900
400
600
600
AR .100
700
600
600
800
.900
700
600
RER(AEB)=ERS RERCRE) % .400
.400
.900
10.600 | 76% ¥ H:11.600
.900 77%
.400 78%
400 78% .900
10.100 | 77% 100, B:11.600
ERBR .700 78% .200
11100 | 75% 100
9.400 78% 400
9.400 78%
12100 | 72% |&A.11.300. H:13.100
9.400 78% | H:10.400
10.600 | 76% |£::12.600. H:13.600
9.900 77% | H:10.900

JAL



EEEAR

2018/03/28 ~

=40]

9/1

A—r\—5it

ERE

R CRE)=HEX

RECPE) R

.500

.700

.700

.200

.900

.100

.100

.600

AR

.800

.200

.600

.600

.800

.900

.700

.700

RR(PE)-ERS

RECPE)#

.400

.400

.900

.900

.900

.400

.400

.100

ERBR

700

11100

9.400

9.400

12.100

9.400

9.900

9.900

R—I—%BIEEROOAI~2BEES)

JAL



EEEAR

2018/03/28 ~

TR—N—%FGIHEEROA14~1THEED)

=40]

9/14

9/17

A—r\—5it

A=A

R CRE) =K%

RECPE) R

EY

R CRE)=#EX RROPE)F | J
AR

R CRE) =58 RROPE)R | J
e

RR(PE)=ERE | ®RRCAE)E

ERBR

=

ol
S|
S|

|

o]
S|
S|

H

|
S|
S|

|

|
S|
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|

|
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|

o]
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=
S|

|

|
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|

|
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|

|
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|

o
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S|

|

=
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=

|

|
3|3]
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|

|

|
3|3
S|S]

|

o
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|
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EEEAR

2018/03/28 ~

TR—N\—%FGIHEEROA21~24BEFEN)

=40]

9/21

9/23

9/24

A—r\—5it

A—r\—5it

A= =5l

ERE

R CRE) =K%

RECPE) R

.400

.000

.000

.000

.200

.200

EY

.100

.100

.800

ERE

.800

.100

.700

R CRE)=#EX

RROPE)F | J

.500

.700

.700

.500

.900

.700

.700

.100

AR

.600

.100

.600

.600

.100

.600

.600

.200

R CRE) =58

RROPE)R | J

.600

.000

.700

.000

.600

.500

.600

.600

.600

.600

.800

.600

RR(PE)-ERS

RECPE) R

.900

.900

.400

.500

.500

.300

.800

.200

ERBR

.100

ol
S[3
S|S]

NS
S|S]
S|S]

|

ol
S|
S|

|

|
S|
S|

|

=
S|

|

o)
S|
S|

|

=
S|

|

|
S|
S|

|

|
S|
S|

|

o
S|
S|

|

=
S|

|

o |
S|
S|

A

|

|
3|3]
S|S]

|

3|3
S|S]

.600

.100

.100

.600

.100

.900

.900

JAL



[R—/—5%1BBER(10A5~8AEEN) AL

EE#EMAA : 2018/03/28 ~

10/5 10/6 10/7 10/8
A==t | A—N—defl | R—/S— | R—ri—%

B | ER ERE

=40]

.300 0
.500
.000
.500
.300
.100
.600
.600
.600
.600
.000
.900

o
S|

R CRE) =K% RECPE) R

EY

.300
.800
.800
.500
.000
.500
.700
.100
.100
.600
.600
.600
.100
.600
.500
.000

R CRE)=#EX RROPE)F | J

AR

.100
.100
.500
.500
.500
.000
.100
.600
.600
.100
.000
.500

R CRE) =58 RROPE)R | J

.000
.000
.000
.300
.300
.800
.800
.300
.000
.600
.100
.600
.200
700
.800
.500

RR(PE)=ERE | ®RRCAE)E

ERBR




S %BIEER(E6A1I~14BEBES)

EEEAA : 2018/03/28 ~
6/11-14
FH ===
= @ | mAm T R
| ERE | 5o s
KR (R =48 (AVE) | ABR (GRFD % | J 17.900 | 53% |%:18.600. E:19.600. H:15.800
8.600 78%
TR (HE) 5 8.600 | 78% 09,600
000 | 53% |%:16.900. :16.200. H:18.600
R CAE) =% RECRE) % 200 64%
300 | 61%
200 | 64%
500 | 63% | H:14.300
500 | 63% |4 H:14.300
200 | 64% | H:13.800
HHER 500 63%
500 | 63%
500 | 63%
200 | 64%
200 | 64% |4 H:13.800
7 200 | 64%
RR CHE)=HE R (AE) 5 7 200 | 63% [+ [H:8800
7 700 | 58% 8.800
7 200 | 63% 8.800
7 .200 | 63% |%:10.700. X H:8.800
HER 7 700 | 61% |%:14.300. 1 H:8.800
7 200 | 63% |+ H:8.800
7 700 | 58% |%:12.900. 1 H:8.800
7 200 | 63% |+ H:8.800
RRCHE) =/ R CAE) 5 [_J 7 400 66% 7.300
7 700 61% 7.300
7 700 65%
7 400 66%
7 400 66%
7 400 66% 900, £ H:7.300
AR 7 400 66% 7.300
7 400 7.300
7 400
7 700
7 400
7 400
FR(CRE) =R FERCRE)F | JL 7 -200
7 000
7 000
7 000 2.800. £:13.100. H:11.800
7 000 800, £:13.100. H:11.800
7 000
7 800 2.000. %:13.100. H:13.600
7 000 3600, H:14.300
AR 7 800
7 100
7 100
7 000
L 7 000
L 7 000
L 7 000
L 7 7.100
B () =FLIR (37 T ) 2 o 2 (P ) 3L 7 17:“;000
7 7.
J 7 000
J 7 100
J 7 100
LR (BT F %) 5 7 .100
[y 7 000
J 7 10500 | 75% |H:11.800
J 7 10500 | 75% |H:11.800
J 7 10500 | 75% |+ H:14.200

JAL



TS5 BIEER(6A15~21BEES)

EEBEAB 2018/03/28 ~
6/15-21
FH =17
= @a | mAm T PR 5
| ERE | no2 E
RECRE) =L (FF&)| RRCHE) % 7.500 00, £:9.200
8.500 900
9.500 800
200 200
700 600
.000 500 800 H:10.500
.000 :14.500,
200 | 70% | A:12.200.
.000 | 73% | AK:11.300,
500 | 72% | AK:10.800.
500 | 72% | :10.800, %1
.700 10.800. %
.700 1400t
700 1400, £ 1
1500 300, £:1
7 500 300, £:10.700, H:12.
7 500 300, £:9.500, B:12.
7 .000 .000
FLIR (BT T8 F_JL 7 500 000 £:12.500. H:10.500
7 000 500, H:11.000
7 000 500, H:11.000
7 000 | 71% |ZEH:11.500
7 .000 | 73% 500, H:12.000
7 9.500 75% .000. H:12.500
7 9.500 75%
7 700 | 66%
7 .200 | 65%
7 200 | 65% |k
7 .400 | 64%
7 000 | 65% |A:
7 000 | 65% |AH:
7 000 | 65% |AH:
7 500 | 72%
7 500 75%
7 500 77% )
7 500 | 75% 000
R CRE)=# HR(PE) R 7 .200 4
7 300 1
7 200 4
7 500 | 63% | H:14.300
7 500 | 63% |&H:14.300
7 200 | 64% |2 H:13.800
3 7 500 | 63%
7 500 | 63%
L 7 500
7 200
] 7 200 £H:13.800
7 200
FRCRE)=RE RERCRE) % 7 .200 8.800
7 700 8.800
7 .200 8.800
7 .200 0.700. £ H:8.800
HER 7 .700 4,300, £ H:8.800
7 .200 8.800
7 700 2.900. T H:8.800
7 .200 8.800
FRCRE) =/ M2 ERCRE)S | J 7 .400 7.300
7 700 7.300
7 700 7.800
7 400 00 £ H:7.300
7 400 .900. £ H:7.300
7 400
AR | L 7 400
7 400
7 400
7 700
7 400 0.200. £ H:7.300
7 400 0.200. £ H:7.300
FRCRE) =W RERCRE) % L231 | 7 .600 .800
[ Jr233 [ 7 600 900
1237 |7 100
L 7 11.000 10.800
L 7 13.300 0,500, H:10.800
GIES L 7 9,800 9,900, £:10,800
L 7 12,000 0,900, £:10,800, H:10,500
L 7 8,100
L: 7 12,300 2,700, + H:10.800
L 7 13,000 3,200, + H:10,800
RR(ABR)=-#8 RRCPE) $ | JL 7 9.800 ,400
[ JL4ss | 7 10,000 400
[ _JL457 | 7 9,400 1:9.600
[ JL4s59 |7 8,600
461 7 ,000
[ JL463 | 7 000 | 70% |H:10.300
465 | 7 000 | 70% |£:10,500. H:10.800
wERE | _J4s2 |7 000 | 70% |£:10.500
[ JL454 | 7 9,600 1%
[ JL4s6 | 7 8,600 74%
[ JL4ss | 7 000 | 70%
[ JL460 | 7 000 | 70%
462 | 7 000 | 70%
Ld6d | 7 000 | 70%
R (PE) =81 RRCRE) % L475 | 7 700 68% |#:12,000, £ B:9,600
L477 7 200 | 57% |H:12.000
L479 | 7 9,600 71% |+ H:10,600
Lasi_| 7 9,600 1%
[JL4s3 | 7 0700 | 68% 900, & H:10,600
[ JL485 | 7 3,700 59%
L487 | 7 4,700 56%
B L474 | 7 1,600 65%
L476 | 7 2,400 63%
L478 | 7 9,600 1%
[ JL4so | 7 9,000 73%
[ JL482 | 7 1,400 66%
484 | 7! 4,600 56%
486 | 7! 4,100 57%
RRCRE)=54 RERCRE) % 491 | 7 0,000 12%
[ JL493 | 7 1,000 69%
[ JL495 | 7 9,200 74%
497 | 7 12,000 66%
499 | 7 14,000 60%
SIS [ JL490 | 7 9,800 7
[ JL492 | 7 9,800 7
494 | 7! 9,200 7
[ JL496 | 7 ,600 6.
498 | 7 ,000 60% X N
RECRE) =l HRCEE) # 431 |7 500 7 1,200, £:12,000. H:10,300
L433 | 7 ,100 6 4,500, 1:13,900,
L435 | 7 9,500 7
L437 | 7 ,400 7 4 11,500
L: 7 ,700 6. ,800, £:12,100, H:14,500
L: 7 ,300 60%
EAIES L: 7 700 65%
L: 7 ,700 65%
L: 7 9,500 73%
L: 7 11,100 69% |£:11,600, £ H:11,500
L: 7 13,700 62% |£:14,100, £:10,600
7 13,700 62% |£:14,100, £:10,600

JAL



EEEAR

2018/03/28 ~

TS5 BIEER(6A15~21BEES)

=40]

B

FH
BAH

6/15-21

INFSER

ERE

BEH
EEIES

%5

R CRE)=X%

R CRIE) | JL661

.000

L663

L665

L667

L671

RHE | JL662

L664

L668

[ JL670

o

JL672

JL674

R CRE)=Ri&

R CPIE) % | JL605

R

R CRIE)=#EX

R CRE) | JL

AR

R CRIE) =58

TR IR % L

11.800, K:12.000, £:12.100, :12.700

:13.600. £:

00

3.100, H:13.800

:200\ H:13.300
800

65 (R ED) =ALIR (B T | 2 () 34

0,500

:200\ H:12.900
.000, £:20.000. H:16.400
11.800, K:12.300, £:

:10.700, +:10.500

FLIR (B %) 5

10500

H:10.700

10.500

H:10.700

] Y Y Y Y Y Y Y Y Y Y Y Y ) Y )Y )Y Y Y Y Y Y Y Y ) Y Y)Y Y Y)Y ] ) Y Y ) ) Y ) ) Y Y

10.500

H:14.200
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TS5 RBEER(6H22~30BEES)

EEBEAB 2018/03/28 ~
6/22-30
FH =57
= @a | mAm T TLEER
| ERE | no2 E
R (FE) =AU (T F )| RRCABE) % 7.500 00, £:9.200
8,500 77% .90, £:13.900
9500 | 75% 800, %:10.900.
200 7% 200, £:19.400,
700 1% 600, £:22.600,
000 | 63% 500, :14.700, 10,500
000 | 63% 10.500
200 | 70% [k
000 | 73% [k
500 | 72% [k
500 | 72% [k
.700
.700
700
1500
7 500 300, £:10.700, .
7 500 300, £:9.500, B:12.
7 .000 .000
FLIR (BT T8 F_JL 7 500 000 £:12.500. H:10.500
7 000 500, H:11.000
7 000 500, H:11.000
7 000 | 71% |ZEH:11.500
7 000 | 73% 500, H:12.000
7 9.500 75% .000. H:12.500
7 9.500 75%
7 700 | 66%
7 200 | 65%
7 200 | 65% |&
7 400 | 64%
7 000 | 65% |A:
7 000 | 65% |A:
7 000 | 65% |A:
7 500 | 72%
7 500 75% 800, £:9.300. B
7 500 77% 500, £:8.300, H:11.000
7 500 75% 000
KR (BE8) =AL0% (37 F 58| ABR (B9E) 5 | JL2501 | 7 14100 | 70% 100 £:19.100. H:11.700
[JL2503 | 7 700 81% 10.200
L2505 | 7 700 81% 10.200
FLIR (3T R%) 3 _JL2502 | 7 500 82% +13.400
[JL2504 | 7 500 79%
L2506 | 7 13.600 | 71% [%:12.400. £:16.900. H:13.100
KR (759) =304 (R ER) | ABR (7% 5 |_JL2081 | 7 18.000 | 53% |£:18.700. £:19.700, H:15.900
L2087 | 7 8.600 78%
S8 (FRER) 3¢ |_JL2084 | 7 8600 | 78% |H:12.300
2088 | 7 100 3% [%:17.000. £:16.300. H:18.700
RECRE)=H&HK RERCRE) % Li4l |7 .200 4
L143 |7 300 1
L145 | 7 200 4
Li4a7 | 7 500 3% _|H:14.300
L 7 500 | 63% |2 H:14.300
L 7 200 | 64% |2 H:13.800
BHR L 7 500 | 63%
L 7 500 | 63%
L 7 500
7 200
L 7 200 £H:13.800
L150 | 7 200
FRCRE)=RE RERCRE) % 61 [ 7 .200 + H:8.800
[ JL163 | 7 700 8.800
[ JL165 | 7 .200 8.800
L167 | 7 .200 0.700. £ H:8.800
HER 7 .700 4,300, £ H:8.800
7 .200 8.800
7 700 2,900, £ H:8.800
7 .200
FRCRE) =/ M2 ERCRE)S | J 7 .400
7 .700
7 700
7 400
7 400
7 400
TN 7 400
7 ,400
7 ,400
7 700 7,
7 ,400 0,200, £:7,900, H:7,300
7 ,400 0,200, £:7.900, H:7,300
R CRE) =R RERCPE) % 7 600 .800
7 600 [£:9,.900
L: 7 100
L: 7 11,000 10,800
L: 7 13,300 0,500, H:10,800
G L: 7 9,800 9,900, :10,800
L: 7 12,000 110,900, £:10,800, H:10,500
L: 7 8,100
L: 7 12,300 2,700, + H:10.800
L: 7 13,000 3,200, + H:10,800
RRCAE)-ES | RR (M) 5 |_JL 7 9,800 0000, H:9,400
[ JLas5 | 7 10,000 00
[ JL457 | 7 9,400 9,600
[ JLa59 |7 8,600
461 7 ,000
[ JL463 | 7 000 | 70% |H:10.300
465 | 7 000 | 70% |£:10,500. H:10.800
wERE | _Ju4s2 |7 000 | 70% |£:10.500
| JLas4 |7 9,600
[ JL456 | 7 8,600
[ JL458 | 7 ,000 100
[ JL460 | 7 ,000 100
462 | 7 ,000 100
L464 | 7 ,000 100
G EETN RERCPE) % L475 | 7! .700 ,000, £ H:9.600
L477 | 7 ,200 ,000
L479 | 7 9,600 10,600
L481 7 9,600
[ JL483 | 7 0,700 900, + H:10,600
[ JL485 | 7 3,700 ,200, £:10,700, H:14,000
L487 | 7 4,700 200, 1 00, ,000
3 L474 | 7 1,600 ,800, 1 600
L476 | 7 2400 ,100, 1 200, H:10,700
L478 | 7 9,600 9,600
| JL480 | 7 9,000
| JLas2 | 7 1,400 1,900, &
484 | 7! 4,600 5,000, £
486 | 7! 4,100 14,600,
RRCHE) =B FR ()% [ J491 [ 7 0,000 1,500, H:8,
[ JL493 | 7 1,000 £:12,500, H:9,!
| JL495 | 7 9,200
497 | 7 12,000 100
499 | 7 14,000 .100, H:13.900
SIS [ JL490 | 7 9,800 300
[ JL492 | 7 9,800 7 ,300
494 | 7! 9,200 7
| JL496 | 7 600 6. 3,100, £:12,300
498 | 7 000 60% 4,300, 111,100
R (FE) =1l ESACEES 431 | 7 500 7 1,200, £:12,000,
L433 | 7 ,100 6 4,500, 1:14,700,
L435 | 7 9,500 7
L437 | 7 ,400 7 4
L: 7 ,700 6. 1:14,500
L: 7 ,300 6 114,600
EAIES L. 7 700 65% :9.600
| Ju432 | 7 700 65% 1:9,500
434 | 7 9.500 73%
| JL436 | 7 11.100 69% |£:11,600, £ H:11,500
| JLa3s | 7 13,700 62% [£:14.100, £:12.300
L440 | 7 13.700 62% |£:14.100, +:12.300

JAL
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6/22-30
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= 2 | mAM DRFSEE

g | BEH
i) ERE B51% %5

L661 .000 75%
L663 .000 70%
L665 .000 70%
L667 .000 70%

R CRE)=X% R CRE) #

L671 000 | 70%
[ JLe62 800 | 70%
L664 800 | 70%
[_JLe68 000 | 70%
JL670 000 | _70%
JL672 600
JL674 400
FRCRE) =R HR(FE)F [_JL60S -400

EY

S

|
=
S|
B
=

Nul
mn

R

3|2
2|2

200, H:14.300
200, H:1
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Yal Fal rai rad by

R CRIE)=#EX R CRE) | JL

H:11.800
00

o o A e

AR Kl

N TN [N S e e |

TRIE) AR | ER CHE R [

K:12.000. £:12.100. £:12.900
3.100, +:12.200, H:13.800
00

65 (R ED) =ALIR (B T | 2 () 34

0500 | 75% |/ 11800 A:12.3
1000 | 83% |£:10.700. F10,500

FLIR (B %) 5

10500 | 75% [H:10700
10.500 | 75% [H:10.700
10.500 | 75% [ H:14.200
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EEBEAB 2018/03/28 ~
7/1-12
FH =57E
=R B4 | mam INESRT
® | mmEm |20
el EES
RECRE) =L (FF&)| RRCHE) % .000 75%
000 | 72%
000 | 70%
200 | 64%
500 | 59%
500 | 59%
500 | 59%
500 | 69%
000 | 70%
500 | 69%
500 | 69%
700 | 68%
700 | 68%
700 | 68%
500 | 64%
7 500 | 66%
7 000 | 70%
7 000 | 70%
FLIR (7 F %) $9__JL 7 .500 69%
7 500 | 66%
7 500 | 66% X
7 500 | 69% |&t :13.000
7 000 | 70% £:12.500. H:14.300
7 500 | 71% 000, B:14.800
7 500 | 71% 000, H:16.000
7 000 | 67% 3:17.700
7 200 | 62% 500, £:14.300. H:19.900
7 200 | 62%
7 600 | 61%
7 600 | 61%
7 600 | 61%
7 300 | 62%
7 .900 | 65% 400
7 500 | 71% 1,300, H:16.700
7 500 | 74% 0300, H:15.000
7 000 | 72%
FR CRE) =R HR(PE) R 7 9.600 73%
7 9.600 73%
7 8.100 78%
7 000 | 70%
7 800 | 67% |A:12.400. £:13.300, £:10.500. H:11.600
IS 7 9.700 73% [ +:10.500. H:9.900
7 300 | 69% |£:10.900. £:11.600, H:10.500
7 8.100 78%
L: 7 600 | 68% |%:12.800. £ H:10.600
L: 7 800 | 67% |A:12.400. £:13.800. £ H:11.600
RR(CAB)=E8 FRCPE)$|_JL253 | 7 .600 7
[ JL255 | 7 300 A:14.800. £ H:11.800
[ JL257 | 7 300 A:14.800. £ H:11.800
[ JL259 |7 400 :10.800
[ JL261 | 7 1.700 1.900. £ B:11.800
[ JL263 | 7 8.000
[ JL265 | 7 900 | 65% |%:13.300. T H:10.800
267 | 7 400 | 64% |%:13.800. £ H:10.800
BB | J252 |7 .000 E :
[ JL254 |7 .900
[ JL256 | 7 600
[ JL258 | 7 8.000
[ JL260 | 7 .900 800
[ U262 | 7 .900 1800
[ JL264 | 7 .900 1800
266 | 7 400 800
RR(CPE)=HE RERCRE) % 277 |7 1.600
279 [ 7 5.800
[ JL283 |7 0.800
[ JL285 | 7 9.800 :
287 | 7 700 | 55% |4 H:16.200. E:13.300
HER 276 | 7 .000 £H:11.100
278 | 7 .200 3.600
[ JL280 | 7 .800
[ U284 |7 200 | 53% |2 H:16.700
286 | 7 700 | 55% |2 H:16.200
RR(CRER)=-#8 FRCPE)$ | _JL453 | 7 .000 72%
[ JLa55 | 7 9,800 72% | &£:10,000
[ JLas57 |7 10,000 | 72%
[ JL459 |7 8,600 76%
461 | 7 000 | 7
[ JL463 | 7 000 | 7
465 | 7 000 | 7 £:10500, H:10,800
wERE | _J4s2 |7 100 | 7 £:10.500
[ JLa54 |7 100 |72
[ JL456 | 7 8,600 76%
[ JL458 | 7 100 | 7
[ JL460 | 7 100 | 7
462 | 7 100 | 7
L464 | 7 100 | 7
R (HE)=E1 EACEES L475 | 7 .400 6 £:12,000, £+ H:10.900
L477 | 7 200 | 60% |H:12.900
L479 | 7 0,600 | 70% [£H:10,900
L481 | 7 9,600
[ JL483 | 7 ,900
[ JLas5 | 7 300 14,200, £:11,300
L487 | 7 300 15,200, £:12,300
1S3 L474 | 7 300 3,600, £ H:10.900
L476 | 7 ,600 4,000, H:11,000
L478 | 7 600 10,900
[ JL480 | 7 9,000
[ JLas2 |7 1,400 1,900
484 | 7 4,800 2,500, H:15.600
486 | 7 4,000 +14,600, £:12.
R (HE)-BH FR () % [ J491 [ 7 0,300 1500, H:
[ JL493 |7 1,300 2,500, B:
[ JL495 | 7 9,200
497 | 7 12,000 500
499 [ 7 14,000 ,000. H:14.900
SIS [ JL490 | 7 9,800 300
[ JL492 |7 9,800 300
494 [ 7 9,200
[ JL49%6 | 7 600 13.100
498 | 7 000 4,900, £:12,000. H:14,500
ESECT N ESACEES 431 | 7 600 72% +:12,000. H:11,500
L433 | 7 100 4,500, 15,700, H:12.800
L435 | 7 9,500
L437 | 7 1,400 11500
L 7 400 14,900, £:13,900
L 7 300 6,000, H:16.400. £:13,000
EAIES L: 7 ,300 4,000, H:10,600
L 7 300 3,400, +£:13.900. H:10,400
L 7 9,500
L 7 300 | 70% |%:12,600. £ H:12,300
L 7 000 | 63% |&A:
L 7 000 | 63% |&
RRCHE) =K% HR (A % [_JL 7 000 | 76% |4
[ JL663 | 7 200 | 7
[ JL665 | 7 200 | 7 B
[ JLe67 | 7 000 | 7 At
[ JL669 | 7 000 | 7 B
671 | 7 000 | 7 B
K | JLe62 | 7 000 7 X
[ JL664 | 7 000 | 7 J
[ JL668 | 7 000 | 7 A 3:13.
670 | 7 000 | 72% R 200, H:13,600
672 | 7 600 | 73% [#:12.200, +:11,800. H:12,900
L674 | 7 400 | 73% |£:12.900. F:11.600, H:12.700

JAL
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o 17112
=40] B8 | EAH INESRT
® | mmEm |20
~ | B5IE
HR(CRE) =R RRPE)F [ J .600 75%
800 | 72% |/
800 | 72% |/
800 | 72% |/
600 | 73% |/
600 | 73% |/
RER 600 | 73% |/
600 3%
200 4%
800 2%
800 | 72
800 | 74
R (CRE) =R R (PA)F [ JL 200 74% |4
000 | 72% |4
200 | 72% |/
7 200 | 72% |/
7 200 | 72% |/
7 000 | 72% |2
7 600 | 69% |/
7 200 | 72%
AR 7 200 | 72% |A
7 600 | 69% | Joki13.
7 600 | 69% | 2kk:13.100
7 600 | 7 A H:13.600. K:
7 600 | 7 F H:13.600, 7K: 13,
7 200 | 7 H:13.200. & 00, H:13.800
7 200 | 7 H:13.200. &:12. 3.300. H:13.800
L 7 8.400 8 (:6.600. 7K:6. ES
R CHE)=EH RRCHE) % [_JL 7 000 | 72 1200, :12.600.
7 000 | 72 200
7 100 | _70% 800 K.
7 100 | 70% |H:13.600. 7K.
7 600 | 69% | Jksk:12.200. %
7 200 | 72% |[AA:13.100, %
ECES 7 200 H:12.8007K
7 200 JK: 12,000, &
7 000
7 200
7 000
7 600
RRCAB)-ERSE | ®m(AE) % 7 .900
7 .900
7 900
7 400 0
7 900 1
7 .900 1
7 .900 1% | H:9.400
7 600 9% |H:11.100
BERBR 7 700 81% | £:0.200
7 10600 | 77
7 8.900 81
7 8.900 81
7 10600 | 77 :12.600
[ JL650 | 7 8.900 81 :9.900
[ JLe52 | 7 9.400 80" 0.400
L654 | 7 8.900 8 :9.900
EACE T RIR (F7%) 5 |_JL2201 | 7 10200 | 72% |A%EH:10.700
[JL2203 | 7 10700 | 7
[JL2205 | 7 500 7
[JL2207 | 7 500 77"
[JL2200 | 7 200 | 7
JL2211 | 7 200 | 7
JL2213 | 7 200 | 7
JL2215 | 7 200 | 7
M&% | JL2200 | 7 200 | 7
[JL2202 | 7 200 | 7
[JL2204 | 7 8.500 7
[JL2206 | 7 500 77"
[JL2208 | 7 200 | 7
JL 7 700 | 7
JL 7 200 | _72% |&#EH:10.700
JL 7 200 | _72% &£ H:10.700
ZEEBUMO=#HB |[&EE UMD | JL 7 9.000 7
it JL 7 9,000 7
AEE(MO=F AR (MR R]_JLA3TI [ 7 200
L4377 [ 7 200
TS 14372 | 7 1200
78 | 7 200




TS %BIEER(TA1T~23BEES) JAL

EE#EMAA : 2018/03/28 ~

o 7/17-23
=R B4 | mam INESRT
® | mmEm |20
~ | B5IE
RECRE) =L (FF&)| RRCHE) % .500 69% | A:16.100. %:16.500,
100 | 60% 50!
300 | 50%
600 | 53%
600 | 53%
600 | 53% |2:20.600. £:25.900,
.000 | 60% |A:16.300. %:19.800, 1
500 | 66% | A:15.200. %:16.900,
000 | 65%
000 | 65%
200 | 64%
200 | 64%
200 | 64%
000 | 60% |&:
000 | 62% |2:18.900. £:13.700
7 000 | 65% |2:18.900. £:13.500,
7 500 | 66% | H:15.000
FLIR (T ) UL 7 000 | 65% |%+:16.000. H:14.500
7 000 | 62% |#+:16.500
7 500 | 64% |£+:16.000
7 500 | 66%
7 .000 7
7 000 7
7 500 4
7 300 7
7 7.300 7
7 7.600 | 56%
7 7.600 | 56%
7 7600 | 56%
7 7400 | 56%
7 000 | 60%
7 300 | 62%
7 000 | 70%
7 500 | 69%
FR CRE) =R HR(PE) R 7 9.600 73%
7 9.600 73%
7 9.600 73%
7 000 | _70%
7 12.100 | 67% [A.12.600. £:13.300. £:10.500, H:13.400
IS 7 9.700 73% | +:10.500, H:9.900
7 11.600 | 68% [£:10.900, £:12.500. H:10.500
7 9.600 73%
7 600 | 68% |&H:12800. X
7 100 | 67% |A+:12.600. £:13.800, H:13.400
RR(CRB)=E8 ERCRE)S | J 7 .600 7
7 300 £:13.700. B:11.700
7 300 3.700. H:11.700
7 400 E:
7 400 |69 1.900. H:11.000
7 400 | 69% 1900, H:11.000
7 900 | 65% .800
7 400 | 64% .800
LB 7 000 | 70% .800
7 900 | 65% |
7 600 | 71%
7 600 | 71% %
7 900 | 65% |2:14.800. H:13.700
7 900 | 65% |2:14.800. H:13.700
7 .900 | 62% |2:15.000. F:12.900 00
7 200 | 62% |%:15000. E:13.400, B:13.700
R (PE)=ES Fm CHE) 3 |_JU 7 400 | 68% |4 £ £:12.000. H:10.600
7 900 | 69% 0.
7 800 | 70%
7 800 | 70%
7 400 | 68%
7 400 | 68%
7 400 | 68%
BER 7 300 | 65%
7 1400 | 71%
7 300 | 68% |+:10.800. H:10.600
7 300 | 68% £ H:11.800
7 800 | 67% 000
7 800 | 67% :12.000
7 800 | 67% :12.000
RRCAE) =B | RRGAE) % 7 400 | 68% 3:10,800
7 900 | 58% |&F 3.12,700
7 800 | 70% [ :12,000
7 400 | 68% ,000, H:13,200
7 400 | 68%
7 700 | 62%
7 700 | 50%
B 7 300 65%
7 600 | 65%
7 800 | 70%
7 800 | 70%
7 000 | _66%
7 200 | 57%
7 600 | 50%
R (HE)-BH R (PE) R 7 900 | 68% 400, B:10,
7 900 | 66% 400, H:11,700
7 900 | 71% 13,900
7 000 | _68% 700, H:14,400
7 900 | 60% 1400, H:15,900
ST 7 9,800 74%
7 600 | 66% 100
7 900 | 71%
7 300 | 65% 1900, H:15,000
7 900 | 60%
RRCAE) L | BRI 3 7 600 | 72%
7 400 | 62%
7 600 | 70%
L437 | 7 400 | 70%
L 7 000 | 61%
L 7 300 | 63%
EAIES L: 7 300 65%
L 7 900 | 64%
L 7 200 | 71%
L 7 300 | 70% |&:
L 7 000 | 63% [&
L 7 000 | 63% [&
RR(AE)=K7 | BmCHE) 3 | _JL 7 000 | 76% |2
[ JL663 | 7 000 | 7 7
[ JL665 | 7 000 | 7
[ JLe67 | 7 000 | 7
[ JL669 | 7 000 | 7 B
671 | 7 000 | 7 B
K | JLe62 | 7 000 7 X
[ JL664 | 7 100 | 7 J
| JLe6s | 7 000 7 A
670 | 7 000 72% | A
672 | 7 600 | 73%
674 | 7 400 | 73% [%:
R (BE)=RE | BmCHE)3E | _JL605 [ 7 400 | 75% [A:
[ JL607 | 7 600 | 75% |A:
[ JL609 | 7 800 | 7 7
611 | 7 800 | 7 7
613 | 7 800 | 7 7
615 | 7 800 | 7 7
RUW55% | _JL606 | 7 800 7. Pa
L608 | 7 800 | 7 pY
L 7 800 | 7 pY
L 7 600 | 70% ]
L 7 600 | 70% |71 ;
L 7 000 | 74% |/KA:11.800,




TS %BIEER(TA1T~23BEES)

EEEME . 2018/03/28 ~
7/17-23
4 L
=40} B4 | mam SRR
® | &mm |50
" | mai=
TRGIE A | BRI R 700 | i4% |3
.000 72% |4
.200 72% |Y
.200 72% |Y
.200 72% |Y
.000 72% |&
.600 69% |7K:
.200 12% B
REARHR .200 2% |A:
.600 69% |7K:
.600 69% |7K:
.600 69% |7K:
.600 69% |7K:
.300 69% |7t
300 | 69% |KAL:12. .
7 8.400 81% |7k:6.800. £ H:9.300, +:7.400
AR CAE) -2 R CHE) % |_JL 7 000 | 72% | A:12.200. %.12.800, +:13.100
7 .000 72% |k +:12.200
7 .100 70% | 7K:12.000 00
7 .100 70% 600, 7} . £:12.000, H:13.800
7 .600 69% |X:13.100, 7 00
7 .100 70% |X:12.000. 7 200, 00
= 7 .800 7 #:13.300, 1:13.800, H:12.200
7 .200 1 P 13,
7 .000 1 P
7 .200 1
7 000 |72
7 .600 3
FRR) BERE | AR(RER 7 900 |81
7 .900 il
7 .900 1
7 .400 80%
7 .900 81 .900
7 .900 81 .900
7 .900 81 :9.900, H:9.400
7 10.600 77 :10.800, £:11,600, H:12.100
BEREH J 7 .900 81 :9.900, 1:9.400
J 7 10.600 77 :10.800
J 7 .900 81 :9.900
J 7 .900 81 .800
7 11.600 75 200, A:10.800. H:13.600
7 8.900 81% .900, H:9.900
7 9.400 80% 600, H:10.400
7 8.900 81 :9.900
ARG -HE | KB (G R [J2150 7 100 | 7
J 3 | 7! 600 7
J AR .100 1
HER J 2 | 7! .600 1
[Jr2154 [7 100 | 72% |[EFE12600
JL2158 | 7! .100 1
PO e ZE R N F| JL4333 | 7 9.000 7
i J 34 | 7 9.000 7
EEECVE-BE  [BEEGMO R I3[ 7 200
J 77| 7 .200
B J 72 | 7 .200
J 78 | 7 .200

JAL
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LS %E
SEEAE . 2018/03/28 ~
2] 7/24:31
X E4% 3 A DS EF
B
FR CAB) =R T B R CHE) % | _J501 | 768 50

00, &
00, &

2 1:16.000

000

+:14.500. H:16.400
00
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s 772431
) w2 | mam TSR
5]
R (FE)=REX RRE(FE) % [ JL B
33
RR(CHE) -5 RRE(HE) %
2,600
00. 7K:12.800. £:13.100. £:12.000. H:13.800
2.200. A+:12.600. H:13.800
RS
RE(HE)=RER R (HE) %
900 | _81% [H9.400
10600 | 77% |%:11600. H:12.100
ERBR 900 81% [ +:9.400
10600 | 77
.900 81
900 81
11,600 5%
8900 81%
400 80%
900 81%
KR (B =% KR () % 100 72%
600 | 71%
100 | 72%
BHRE 600 73%
100 | 72% |&FHE12600
100 | 72%
ZEECMO=FE [AEECMO 2] J14333 9.000 7
$R% 4334 9,000 7
BHEE (MR =B &R (MR L .200
L 200
TS L. 200
L 200
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EEBEAB 2018/03/28 ~
8/1-7
FH =57
= @5 | BAM [—— o= RS
BB ERE B3R W&
RECRE) =L (FF&)| RRCHE) % .900 50% | 7K7:24,900
.900 | 50% | /kA:24.900
900 | 50%
900 | 50%
900 | 50% X
.900 | 50% | /kA:28.300
.000 | 55% |7 :19.500, H:18.500
500 | 56% |7 00, 00, H:18.800
8000 | 55% |J 000, £:18.500
7.000 | 57 : 00
7.200 7
7.200 7
200 i
000 | 52%
000 | 55%
7 000 | 57% X 5 :17.500
7 6500 | 59% 7.500
0% (3 T 2% ) 34__JL. 7 6500 | 59% 7.000. £:17.500. H:16.000
7 7500 | 56% 8,000, £:18.500, H:16.500
7 500 | 59% 7.000. £:18.000
7 500 | 59% 7.000. £:17.500. H:18.000
7 000 | 60% |£%:17.000. H:18.000
7 000 | 60% |£+:17.000. H:18.000
7 500 | 59% |£:18.000, +:17.000. H:19.000
7 000 |57 :19.000. £:17.500, H:19.500
7 .300 4 .900. £:18.500
7 500 4 .900
7 500 1 .900
7 500 1 .900
7 500 1 .900
7 500 | 56% |£:19.900, +:18.300. H:19.500
7 6.000 | 60% |%:18.000. £:16.300. H:17.500
7 5000 | 62% |%:17.000, £:15.300. H:16.500
7 5500 | 61%
FR(CRE)=K5 HR(PA)F [ JL 7 20.800 51%
7 1300 | 50%
7 1300 | 50%
7 1300 | 50%
7 100 | 50%
7 100 | 50%
A% 7 800 | 65%
7 800 | 65%
7 000 | 65%
7 000 | 65%
7 600 | 66%
7 400 | 66%
RR(CRR)=RIK FERCRE)$ | JL 7 21.900 52%
7 22100 | 52%
7 22500 | 51%
7 22500 | 51%
7 22300 | 52%
7 22.300 | 52
R&% 7 000 7
7 000 7
L 7 600
L 7 800
L 7 800
L 7 000
FR(CRE) =R FRCPE)$|_JL623 | 7 .900 50%
| JL625 | 7 1900 | 50%
| JL627 | 7 22300 | 49%
| JL629 | 7 22300 | 49%
631 | 7 22300 | 49%
| JL633 | 7 21700 | 50%
637 | 7 22300 | 49%
639 | 7 22100 | 49%
A% | JL622 |7 800
| Jl62a | 7 600
| JL626 | 7 600
1628 | 7 600
L 7 600
L 7 000 |66
L 7 000 | 66%
L 7 ,800 78% |7}
RR(HE) -2 HRCPA) S [_JL6s 7 22,500 48% |7 ,600, A:16,600, H:22,100
| JL689 | 7 22500 | 48% |7K:14,600, 4:16.600, 100
| JL691 | 7 22300 | 49% |7K:14,600, A:16.600,
| JL693 | 7 22500 | 48% |7K:14,800, 4:16.800, 2,900
| JL695 | 7 22500 | 48% |7K:14,800, 4:16.800, ,900
697 | 7 22500 | 48% |7K:14,800, 4:16.800, 700, H:22,900
=W | _JL68s | 7 ,800 X:15,200, 7K:13,300, 116,300
| JL690 | 7 100 X:15,000, 7K:13,100, 600, £:16,800, H:16.300
| JL692 | 7 ,300 k:15,000,, 7k:12,800.
| JL694 |7 ,300 k:15,000,, 7k:13,600.
| JL696 | 7 300 X:15,000, K:13,100,
1698 |7 500 K:14,400,, 7K:11,600,
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TS5 RBEER(BA18~24BEES)

BE#EMAA : 2018/03/28 ~
8/18-24
FH =r7E
] @5 | BAM ——— PR 5
B oane |57 w5
R (FE) =AU (T F )| RRCABE) % .000 62%
.000 | 62%
500 | 50%
100 | 52%
100 | 52%
100 | 52%
.000 | 62%
500 | 6a%
.000 | 62%
000 | 65%
200 | 64%
200 | 64%
200 | _6a%
.000 | 60%
.000 | 62%
7 .000 | 65%
7 500 | 66% | A r 1
HLIR (7 %) 3L 7 300 | 50% |:16.800, %:17.300
7 800 | 58% |A:17.300, £:17.00. T H:16.300
7 300 | 59% | 2k7K:16.800. A:17.000. %:17.500
7 .300 | 50% £
7 500 | 61%
7 .000 | 62%
7 000 | 57%
7 7.500 | 56%
7 7.500 | 56%
7 7.700 | 56%
7 7.700 | 56%
7 7.700 | 56%
7 7.500 | 56%
7 20.600 | _48%
7 600 | 61%
7 .000 | 62%
7 100 | 62% |H
FR(CRE)=K5 HR(PA)F [ JL 7 .000 76% |t
7 200 | 7 A
7 200 | 7 A
7 000 | 7 A
7 000 | 7 A
7 000 | 7 A
K5 7 20300 | 52% |1
7 20300 | 52%
7 20300 | 52%
7 20300 | 52%
7 500 | 54%
7 300 | 54%
RERCHE)=RE | o CAE) 5 [_JL 7 400 | 75%
7 600 | 75%
7 800 | 72% | 2:12.600. 7K:12.200
7 800 | 72% | 2:12.600. 7K:12.200
7 800 | 72% | 2:12.000. 7K:12.200
7 800 | 72% | %:12.000. K:12.200. F:13.200.
RB5 7 20300 | 5 25.300
7 20300 | 5 25.300
L 7 20.700 | 5 25.700
L 7 20700 | 5
L 7 20.700 | 5
Lf 7 .700 5
RRCHE)=REA | Fom (CHE) 5 [ JL623 [ 7 200 [ 7
[ Jl625 | 7 000 | 7
[ Jle27 | 7 200 | 7
[ JL629 | 7 200 | 7
631 | 7 200 | 7
[ JL633 | 7 000 | 7
637 | 7 200 | 7 :13.800. A:12.600
639 | 7 300 000, 7K:12.200
AR | _JL622 | 7 20.300 25.300
[ Jle24 | 7 20.300 25.700
[ JL626 | 7 20.300 25.700
L628 | 7 20.300 25.700
L 7 20.300 25.700
L 7 20.300 25.700
L 7 20.300 25.700
L 7 15,200 20,600
AR (PE)-ERE | ®RRGE) X [ L 7 800 800, H:12.800
L 7 800 800, H:12.800
L 7 800 100, H:12.800
L 7 800 800, H:13.200
[ Jlea9 | 7 800 800, H:13,200
| JL65T | 7 ,800
| JL653 | 7 ,800
L655 | 7 10,500
BRER L 7 10,800
L 7 20,300 [+ 8:25,700
L 7 10800 | 77% |H:18,300, X:15,300. 7K:12.800. £ H:25,700
L 7 10800 | 77% |H:18,300, X:15300, 7K:12.800. F H:25,700
Lf 7 20,300 56% |+ H:25.800
[ JL650 | 7 10,800 | 77% |H:18,300, X:15,300, /K:12.800. X H:25,800
| JL652 | 7 15,300 67% | A:18,300, 1 H:25,700
L654 | 7 10,800 | 77% |H:18,300, K:15.300, 7K:12.800. £ H:25,700
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8/25-31
FH =r7
— @5 | ot — SIS R
® | mmEm |20
~ | B5IE
R (FE) =AU (T F )| RRCABE) % 500 69% [£:12.900, F:
500 | 69% [£:12.900. f:
200 | 62% |Xk:14.700.
200 | 62% | kA
800 | 60% | k7]
800 | 60%
000 | 65%
500 | 66%
000 | 65%
000 | 65%
200 | 67%
200 | 67%
200 | 67%
000 | 62%
000 | 62%
7 000 | 65% |&:
7 500 | 66% | kJi
#L1% (B F %) 5L 7 .200 62% | X7
7 800 | 60% |kl
7 800 | 60% | ki
7 200 | 62% | kA
7 500 | 61% |&:
7 000 | 62% |&:
7 500 | 59% |-
7 500 | 56% |@:
7 7500 | 56% [A:
7 800 | 60% |kl
7 800 | 60% |kl
7 800 | 60% | ki
7 800 | 60% | ki
7 800 | 60% |kl
7 700 | 63% |kl
7 700 | 66% | &J1
7 700 | 66% | &1
FR(CRE)=K5 HR(PA)F [ JL 7 .000 76% |+:
7 200 | 7
7 200 | 7 Z
7 000 | 7 Z
7 000 | 7 B: 00, 00
7 000 | 7 A: 2.200. H:13.800
A% 7 000 | 7 X :20.300
7 200 | 7 K12, :20.300
7 000 | 7 A%
7 000 | 72% A%
7 600 | 73% [2:12.
7 400 | 73% |22
RR(CRR)=RIK FERCRE)$ | JL 7 .200 7% [X7]
7 600 | 75% |[A:
7 800 | 7 4
7 800 | 7 D
7 800 | 7 D
7 800 | 7 4
R 7 800 | 7 D
7 800 | 7
L 7 200 | 7
L 7 800 | 7 £:20.700
L 7 800 | 7 £:20.700
L 7 800 | 7 H:19.700
FR(CRE) =R FRCPE)$|_JL623 | 7 -200 7 E;
[ JL625 | 7 000 | 7 7 :
[ JL627 | 7 200 | 7 4 000, % +:13.300. H:13.100
[ JL629 | 7 200 | 7 JK:12.000. % £:13.300. H:13.100
631 | 7 200 | 7 J7K:12.000. 13300, B:13.100
[ JL633 | 7 000 | 7 4
637 | 7 600 | 69% |/
639 | 7 300 | 69% |/
AR | _JL622 |7 100 | 70% |/
[ JL624 | 7 600 | 69% |/
[ JL626 | 7 600 | 69%
L628 | 7 600 | 7
L 7 600 | 7
L 7 200 | 7
L 7 200 | 72 )
L 7 8,600 80% 1000, %:9,300. £ H:15.
R (PE) =25 RR(CRE) & [_JL68’ 7! ,000 72% >:12,800, £:13,100
[ JL689 | 7 000 | 72%
[ L6t | 7 100 | 70% 300, +:12,800
[ JL693 | 7 100 | 70% [A: 3,300, £:12,000. H:13,800
[ JL695 | 7 ,600 | 69% | :13,800
697 | 7 200 | 7 E;
BB | _JL6s8 | 7 800 | 7
[ JL690 | 7 200 | 7 St
[ JL692 | 7 000 | 7 4
[ JL694 | 7 200 | 7 :
[ JL696 | 7 200 | 7 k7
698 | 7 600 | 7 4
AR (PE-ERS | RR(HE)F | Jledl |7 800
L643 | 7 800
L645 | 7 800
L647 | 7 800
[ JL649 | 7 800
[ JLe51 | 7 800
[ JL653 | 7 800 0,800
L655 | 7 500 3,500
BERER L 7 ,000 10,400, £ H:10,800
L 7! 800 112,100, £:12,500, £ H:20,300
L 7 800
L 7 800
L 7 500 71 K A:10,800. 7K:12,600, F H:20,300
[ JL650 | 7 800 | 77 1,300
| JL652 | 7 800 77 1,500, £:13,500, +:15,300, H:15.800
L654 | 7 800 | 77 +11,300
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EEBEAB 2018/03/28 ~
9/3-13
FH =575
= @ | mA RS
B | mme | OF
el EES
RECRE) =L (FF&)| RRCHE) % .500 7
500 7
500 7
900 | 63
500 | 56%
500 | 56%
000 | 60%
700 | 63%
000 | 65% |&t
500 |67
500 7
500 7
500 7
500 |67
400 | 62% | kK13,
7 500 | 64% |%:19.300. £:11.200, H:14.
7 500 | 67% |%:14.900. £:11.000, H:14.000
7 900 | 60% | H:14.000
HL% (BT &) 59_JL 7 000 | 65% |%:13.500. E:14.000, H:12,000
7 000 | 63% |k0K:13.900. % +:14.500, B:12.500
7 000 | 63% |kl £ 14,500, H:12.500
7 000 | 65%
7 000 | 65%
7 500 | 67%
7 500 | 67%
7 400 | 62%
7 900 | 60%
7 900 | 60% [k
7 100 | 60%
7 100 | 60%
7 100 | 60%
7 900 | 60%
7 700 | 63%
7 500 | 69%
7 500 | 72%
7 300 | 62%
FR(CRE)=X5 HR(PA)F [ JL 7 .000 75% |4
7 1200 | 69%
7 200 | 69% |B
7 000 | 70% [HE
7 000 | 70% |A:
7 000 | 70% [A:
KH5 7 000 | 70% [ K
7 000 | 70% |/
7 000 | 70% |B
7 000 | 70% B
7 600 | 71% %
7 400 | 71% |4
RR(CRR)=RIK RRCRE) $ | JL 7 .200 70% [X:
7 800 | 7 K
7 800 | 7
7 800 | 7
7 600 | 7 St
7 600 | 7 St
R 7 600 | 7
7 600 | 7
L 7 200 | 7
L 7 800 | 7
L 7 800 | 7
L 7 800 | 7
HR(CRA) FR(CRE) % |_JL62 7 -200 7
[ JL625 | 7 000 | 7
[ JL627 | 7 1200 | 70% B:13.
[ JL629 | 7 1200 | 70% H:13.100
631 | 7 1200 | 70% £ H5:13.100
[ JL633 | 7 000 | 71%
637 | 7 600 | 67%
639 | 7 1200 | 70%
AR | _JL622 |7 100 | 68%
[ JL624 | 7 600 | 67%
[ JL626 | 7 600 | 67%
L628 | 7 600 | 69%
L 7 600 | 69%
L 7 200 | 70% H:13.800
L 7 200 | 70% H:13.800
L 7 8,600 79% 0. H:9.100
RE(CRR)=515 RR(CRE) % |_JL68 7 ,000 1%
[ JL689 | 7 000 | 71%
[ L6t | 7 100 | 68% :12,000, £:12.600
| JL693 | 7 100 68% k:12,600, £:13,300, £:12,000, H:13,700
[ JL695 | 7 600 | 67% [ JC 12,600
697 | 7 200 | 70% |A 300,
BB | _JL6s8 | 7 200 | 70% |A:
[ JL690 | 7 200 | 70% |
[ JL692 | 7 000 | 71%
[ JL694 | 7 200 | 70%
[ JL696 | 7 000 | 71%
698 | 7 600 | 72%
FRHE)-ERE | Rm(HE) % | Jledl |7 900 | 80%
L643 | 7 ,900 80%
L645 | 7 ,900 80%
L647 | 7 400 78%
[ JL649 | 7 ,900 80%
[ JLe51 | 7 ,900 80%
[ JL653 | 7 ,900 80% | H:9,400
L655 | 7 600 78% | H:11.100
BERER L 7 700 80% | £:9.200
L 7 10,600 | 76%
L 7 8,900 80%
L 7 8,900 80%
L 7 11,600 | 73% |JA:10,800. H:12.600
[ JL650 | 7 8,900 80% |H9,
[ JLe52 | 7 9,400 78% | H:10,400
L654 | 7 8,900 80% | H:9.900

JAL
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EE#EMAA : 2018/03/28 ~

o 9/18-20,9/25-30
= @ | mA ORES5E
B | mme | OF
el EES
RECRE) =L (FF&)| RRCHE) % .500 7
500 7
500 7
900 |63
500 | 56%
500 | 56%
000 | 60%
700 | 63%
000 | 65% |&%
500 |67
500 7
500 7
500 7
500 i
.900 FES
7 500 4
7 500 7 .000. H:13.600
7 500 1
HL% (BT &) 59_JL 7 000 | 65% |&:13. ,000. H:12.000
7 900 | 63% | A:14.000, 2 £:14.500. H:12.500
7 900 | 63%
7 000 | 65%
7 000 | 65%
7 500 | 67%
7 500 | 67%
7 400 | 62%
7 900 | 60%
7 900 | 60%
7 100 | 60%
7 100 | 60%
7 100 | 60%
7 900 | 60%
7 700 | 63%
7 500 | 69%
7 500 | 72%
7 900 | 63%
FR(CRE)=X5 HR(PA)F [ JL 7 000 75%
7 000 | 70%
7 000 | 70%
7 000 | 70%
7 000 | 70%
7 000 | 70%
KH5 7 000 | 70%
7 000 | 70%
7 000 | 70%
7 000 | 70%
7 600 | 71%
7 400 | 71%
RR(CRR)=RIK RRCRE) $ | JL 7 000 12%
7 200 | 72%
7 100 | 70%
7 100 | 70%
7 200 | 72%
7 200 | 72%
R 7 600 | 69%
7 600 | 69%
L 7 .600 | 69%
L 7 800 | 7
L 7 800 | 7
L 7 800 | 7
HR(CRA) FR(CRE) % |_JL62 7 -200 7
[ JL625 | 7 0 | 6
[ JL627 | 7 00 | 68%
[ JL629 | 7 00 | 68%
631 | 7 00 | 68%
[ JL633 | 7 00 | 71%
637 | 7 100 | 68%
639 | 7 600 | 69%
AR | _JL622 |7 600 7
[ JL624 | 7 600 7
[ JL626 | 7 600 7
L628 | 7 600 7
L 7 600 | 67
L 7 200 0%
L 7 200 | 70%
L 7 8,600 79% N 100,
RR(HE) -2 HRCPA) S [_JL6s 7 200 70% |7 12,000, %:12,600, £:13,100
[ JL689 | 7 000 | 71% [+:12.200
[ L6t | 7 100 | 68% |JF:12.600. K:12,000
[ JL693 | 7 300 | 68% |7K:12,600, A:13.100,
| JL695 | 7 600 69% [:X:12,800, K:12,200,
697 | 7 800 | 69% [k 3.1
BB | _JL6s8 | 7 800 | 66% [/K7
[ JL690 | 7 800 | 69% [ikK:
[ JL692 | 7 600 | 69% [k
[ JL694 | 7 800 | 69% [/KA
[ JL696 | 7 000 | 71% [k
698 | 7 600 | 72% |&:
FRHE)-ERE | Rm(HE) % | Jledl |7 900 | 80% [k
L643 | 7 900 80% [
L645 | 7 900 80% [
L647 | 7 400 78% &
[ JL649 | 7 900 80% |4
[ JLe51 | 7 900 80% | 10,400
[ JL653 | 7 900 80% | X:10,400, H:9.400
L655 | 7 600 78% [JH:11.100
BERER L 7 700 80% | X:12500, £:9.200
L 7 10,600 | 76% |X:13.600
L 7 8,900 80% | 13,600
L 7 8,900 80% | 13,100
L 7! 11,600 73% |:X:13.600, :10,800, H:12,600
[ JL650 | 7 8,900 80% [ 900
[ JLe52 | 7 9,400 78% &
L654 | 7 8,900 80% | K




TSR GIERER(10A1~4BEESD)

EEBEAB 2018/03/28 ~
10/1-4
FH =x7=
B B | mam — - IIESEF
BB ERE FHES %5
RECRE) =L (FF&)| RRCHE) % .ggg
.800 800
900 | 63 500
500 | 56% 500
500 | 56% 000
500 | 56% .000
700 | 63% 700
000 | 65% 000
500 | 67
500 7
500 7
500 7
500 | 67
400 | 62% [J7K:13.900
7 500 | 64%
7 500 | 67%
#L1% (B F %) 5L 7 .000 63%
7 900 | 58%
7 900 | 58%
7 700 | 61% [H:15000
7 700 | 63%
7 000 | 65%
7 500 | 67%
7 400 | 62%
7 900 | 60%
7 1900 | 60% |A:15.100
7 000 | 63% |A:15.100
7 000 | 65% |A:15.100
7 000 | 65% |A:15.100
7 000 | 65% |A:14.900
7 000 | 68%
7 500 | 69%
7 500 | 72%
FR(CRE)=K5 HR(PA)F [ JL 7 .000 75%
7 200 | 69% |H:12.000
7 200 | 69% | H:12.000
7 000 | 70% | H:12.200
7 000 | 70% | H:12.600
7 000 | 70% | H:12.600
KH5 7 000 | 70% [X:11.800
7 000 | 70% [X:11.800
7 000 | 70% [H:12.200
7 000 | 70% [H:12.200
7 600 | 7
7 400 | 7
RR(CRR)=RIK FERCRE)$ | JL 7 .600 7 A:
7 800 | 7 &
7 800 | 7 X:12.600., 7K:12.200
7 800 | 7 X:12.600. 7K:12.200,
7 600 | 7 X K:12.000
7 600 | 7 X K:12.000
R&% 7 600 | 7 K A:12.200
7 600 | 7 A:12.200
L 7 200 | 7 1600 7K:12.100
L 7 800 | 7 H:13.600
L 7 800 | 7 H:13.600
L 7 800 | 7 A:12.000
FR(CRE) =R FRCPE)$|_JL623 | 7 -200 7 ZK:12.500
[ JL625 | 7 000 | 7 A:13.100
[ JL627 | 7 200 | 70% | kK:12.000
[ JL629 | 7 200 | 70% | &7K:12.000
631 | 7 200 | 70% | &K:12.000
[ JL633 | 7 000 | 71%
637 | 7 000 | 71% |H:13.600, :12.600
639 | 7 .300 | 68% |::12.000. 7K:12.200. A:12.600
AR | _JL622 |7 100 | 71% |H:13.100, A:12.600
[ JL624 | 7 600 | 67% [JK:13.100
[ JL626 | 7 600 | 67% | &K:13.100
L628 | 7 600 | 69% | H:13.600. JK:12.000
L 7 600 | 69% | H:13.600. K:12.000
L 7 200 | 70% | A:13.200, K:12.000
L 7 1200 | 70%
L 7 8,600 79%
RE(CRR)=215 RRCPE) S| _JL68T | 7 ,000 1%
[ JL689 | 7 000 | 71%
| JL6ot | 7 100 68% :11,800, 7k:12,000
| JL693 | 7 100 68% :13,600., 7k:12,600
[ JL695 | 7 200 | 70% | H:13,600. A:12,600
697 | 7 100 | 68% 12,200
BB | _JL6s8 | 7 600 | 69% |A:12,800. K:12.200
[ JL690 | 7 200 | 70% 12,000
[ JL692 | 7 000 | 71%
[ JL694 | 7 200 | 70% |F:13600
| JL696 | 7 ,200 70% [7KK:12,000
698 | 7 600 | 72% [:11.400
R CHE)-ERE | R CAE) 3 | _Jledl |7 900 | 80%
L643 | 7 ,900 80%
L645 | 7 ,900 80%
L647 | 7 400 78%
[ JL649 | 7 ,900 80%
[ JLe51 | 7 ,900 80%
[ JL653 | 7 ,900 80%
L655 | 7 600 78%
BERER L 7 700 80%
L 7 10,600 | 76%
L 7 8,900 80%
L 7 8,900 80%
L 7! 11,600 73% [ 7K:10,800
[ JL650 | 7 8,900 80%
[ JLe52 | 7 9,400 78%
L654 | 7 8,900 80%

JAL



TS5 RBEER(10AI~18ARES) JAL

EE#EMAA : 2018/03/28 ~

Py 10/9-18
= @ | mA RS
® | mmm | BEE
" | mzi=
R ARG TR RA P E 550
.800
.800
.900 63
.500 56%
.500 56%
.500 56%
.700 63%
.000 65%
.500 67
.500 7"
400 7"
.400 7"
400 7"
.400 4 :
7 .400 4 B:
7 .400 7"
7 400 62%
FL (5 T &) 3_JL500 | 7 000 | 63% |A:
7 .900 58% |H:
7 .900 58% |H:
7 700 61% |H:
7 .700 63% |H:
7 .000 65% |A:
7 .500 67% |&:
7 400 62% |&:
7 .900 60% |&:
7 .900 60% | K:
7 100 60%
7 .000 65%
7 .000 65%
7 .000 65%
7 .000 68%
7 500 69%
7 .500 2%
7 .900 66%
RRPE A | RRCAER | 628 |7 200 |73
7 .000 1%
7 .200 70%
| J 7 .200 70%
JL631 | 7! .200 70%
| JL633 |7 .000 1%
JL637 | 7! .600 67%
JL639 | 7! .200 70%
FeAs | J622 [7 100 | 68%
U624 [7 600 7
[JL626 [7 600 7
L628 | 7 .600 7"
L 7 600 |67
L 7 .200 0%
L 7 .200 70%
L 7 .500 7%
RECIE)ERE | RACGHENE [ Jledl |7 900 |60
L 7 .900 80% |A:
L 7 .900 80% |A:
L 7 .400 78% |k
| JL649 |7 .900 80% |A:
| JL651 [ 7 .900 80% | A:10.
| JL653 |7 .900 80% |:A:10.400. H:9.400
L655 | 7! .600 78% |:X:10.800. £:10.600. H:11.100
BERBR L 7 700 80% | :12.500, +:9.200
L 7 10.600 76% | :A:14.100
L 7 8.900 80% |:A:14.100
L 7 8.900 80% | :A:13.600
L 7 11.600 73% |:X:13.600. A:10.800. H:12.600
| JL650 | 7 8.900 80% |:A:13.600. 900
| JL652 |7 9.400 78% |:A:13.100. .400
L654 | 7! 8.900 80% |:X:13.100. H:9.900
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o 10/19-27
=R B4 | mam INESRT
® | mEmam | 0%
e EES
RECRE) =L (FF&)| RRCHE) % .300 73% |$:12.600, £:12.700,
300 | 73% |2:12.600. £:12.700,
300 | 73% |A:11.300. %:12.600, £:1
.900 | 63% | H:11.300. %:18.000, £:1
500 | 56% | H:11.300. %:18.400,
500 | 56% | H:13.000. %:18.400, X
500 | 56% | H:13.000. %:18.400,
700 | 66% 700, %:15
000 | 68% 000, %:14,
500 | 67% 100, £:13
500 | 69% 000, £:12
700 | 69% 100 £:11
700 | 69% 100, £:11
700 | 69% [#:14.100. £:11
200 | 65% |2:19.300, E:11
7 200 | 67% |2:18,300. £:10.200 00
7 500 | 69% |%:14.400. £:10.000, B:13.500
7 400 | 62% |H:14.000
HL% (BT &) 59_JL 7 000 | 65% |%:13.500. T:14.000, H:12.000
7 000 | 60% £:15.500, B:1
7 000 | 60%
7 000 | 63%
7 000 | 65%
7 500 | 67%
7 500 | 67%
7 400 | 62%
7 900 | 60%
7 900 | 60%
7 100 | 60%
7 000 | 68%
7 000 | 68%
7 000 | 68%
7 000 | 71%
7 1300 | 73%
7 9.300 75%
7 900 | 66%
FR(CRE)=X5 HR(PA)F [ JL 7 000 75%
7 200 | 69%
7 200 | 69%
7 000 | 70%
7 000 | 70%
7 000 | 70%
KH5 7 000 | 70%
7 000 | 70%
7 000 | 70%
7 000 | 70%
7 600 | 7
7 400 | 7
RR(CRR)=RIK RRCRE) $ | JL 7 -400 7
7 600 | 7
7 800 | 7
7 800 | 7
7 600 | 7
7 600 | 7
RIER 7 600 | 7
7 600 | 7 00. B
L 7 200 | 7 0. £:12.800. £ H:13.600
L 7 800 | 7 800, £:13.300
L 7 800 | 7 800, £:13.300
L 7 800 | 7
HR(CRA) FR(CRE) % |_JL62 7 -200 7
[ JL625 | 7 000 | 7
[ JL627 | 7 200 | 70% B:13.
[ JL629 | 7 200 | 70% H:13.100
631 | 7 200 | 70% £ H5:13.100
[ JL633 | 7 000 | 71%
637 | 7 600 | 67%
639 | 7 200 | 70%
AR | _JL622 |7 100 | 68%
[ JL624 | 7 600 | 67%
[ JL626 | 7 600 | 67%
L628 | 7 600 | 69%
L 7 600 | 69%
L 7 200 | 70% H:13.800
L 7 200 | 70% H:13.800
L 7 8,600 79% 0, H:9.100
RE(CRR)=515 RR(CRE) % |_JL68 7 ,000 1%
[ JL689 | 7 000 | 71%
[ L6t | 7 100 | 68% :12,000, £:12.600
| JL693 | 7 100 68% k:12,600, £:13,300, £:12,000, H:13,700
[ JL695 | 7 600 | 67% [ JC 12,600
697 | 7 200 | 70% |A 300,
BB | _JL6s8 | 7 200 | 70% |A:
[ JL690 | 7 200 | 70% |
[ JL692 | 7 ,000
[ JL694 | 7 200
[ JL696 | 7 ,000
698 | 7 1600
FRHE)-ERE | Rm(HE) % | Jledl |7 900
L643 | 7 ,900
L645 | 7 ,900
L647 | 7 400
[ JL649 | 7 ,900
[ JLe51 | 7 ,900
[ JL653 | 7 ,900
L655 | 7 600
ER B L 7 700
L 7 10,600
L 7 8,900
L 7 8,900
L 7 11,600 | 73% 710,800, H:12,600
[ JL650 | 7 8,900 80% |H9,
[ JLe52 | 7 9,400 78% | H:10,400
L654 | 7 8,900 80% | H:9,900
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1 A g
0 e | mAm = =
B | mEnm En
FRGIB XS | AR ER 000
.300
.300
.800
.300 .100
.300 .100
AR 500 500 |
.600 600
.600 600
.600 600
.000 700
.900 500
TR B BB | BR CHE R [l 500 500 |
700 700
.800 600
7 .800 600
7 .800 800
7 .500 800
RIGS 7 .300 800
7 .300 800
7 .300 600
7 .800 800
7 .700 .800
7 .000 800
TR IR A | R RER [ J 7 000 1200
7 .600 800
7 .600 600
7 .600 600
7 .600 600
7 .800 000
7 .800 300
7 .300 800
BEARS 7 .600 600
7 .600 5
7 .600
7 .600
J 7 .600
JL 7 .300
[ 7 800
JL 7 .000
R B BERE | Ra(RER [ Jledl |7 400
JL 7 .400
JL 7 .400
JL 7 .600
[ Jieag | 7 600
[ Jies1 | 7 300
[ Ji653 | 7 300
L655 | 7 .300
BEREH L 7 9.800
Lf 7 .600
Lf 7 .600
Lf 7 .100
Lf 7 .200
[ Jie50 | 7 200
[ Jies52 | 7 800
L654 | 7 .000




